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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabor» 20y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 01 p=AYC 01

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢
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200466=3T N 01-01-01

20lae=T 01-01-01

St ATaol AST 1= - fofiC

PP 2%-3(CY AQ0ATC
SRESTIT3UWC
A= - 202T4RYAC

PP T»A=NETCE A3E=C
a=la=vail

 anT3aCH CRESYARSY, &y rSTSY T363T303Y
RSYAS&»TSTY ~ T3ASTISICY T36313A03Y USAUCYY»Ac

. e 2A3NA3Yal
asfia=vai asNasya
AY1=(»YA
b 1=1C =27 12Y4UA P = Afasl Aer = Aol A =h Afaol Aer
(= - 131340V»AC = 1313a0V»A¢ = 130 340V»A¢
1i=0Y»iiar) < - < < >
- \ - - - & - -c
< 3 = S . s Lol 8L | EF | g
A O N ) Ul A vl S”) M S") 0 = i -
S = S e ) Eil| - \= - " A M A
) " 0 20 0 0 mn nn 0 @ o
d & d \= o d D Wy c = NS
Z i Z 3 % S - &
2 a0 30 g% 8
1 2 4 5 6 7 8 9 10
AU _ 2@°UA 12E&°% 23,059,417.6| 4,498,414.3 4,498,414 3| 955,714.7 955,714.7| 10,739,628.9| 3,590,110.2| 1,888,866.8| 469,791.4| 489,997.7
=1 ATaiu
AUAZGET 12EE&°8 22,362,417.6| 4,498,4143 4,498,414.3| 955,714.7 955,714.7| 10,739,628.9| 3,590,110.2| 1,888,866.8| 469,791.4| 489,997.7
=1 ATaiU
2pE2712Ugk 1260210a0A0a0U 14,979,970.1| 3,175,827.3 3,175,827.3| 807,341.7 807,341.7| 6,824,767.7| 1,406,079.0| 1,001,343.9] 397,780.9| 414,348.1
=1 ATaiU
_ASUAT 1x2n140 SRES 13130000 NS 163 X3T» 14,979,970.1| 3,175,827.3 3,175,827.3| 807,341.7 807,341.7| 6,824,767.7| 1,406,079.0| 1,001,343.9] 397,780.9| 414,348.1
=1 AasU
T 2RESTA0Y»AC SRES TS 13000 NS 153 1X30Yoh 14,135,810.6| 3,100,605.8 3,100,605.8| 747,537.0 747,537.0| 6,383,834.8| 1,360,4845[ 950,318.9| 366,934.2| 383,453.9
—a=n- S 1halv»h, 1n=U313Y ERSEaeauY»n -~ NS 1&gl 49,036.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
- 53030363 13Y, 1313137 - a» 1313y 3E 7951231 752215 75221.5| 59,804.7 59,804.7|  440,9329| 455945 51,0250| 30,846.7| 30,894.2
1363la0V»iC &= -3 Thasl
T12&2020A0a00U°B8E ©1 2a62UpU°3k 5,030,332.4| 1,163,127.2 1,163,127.2| 148,197.0 148,197.0 2,975576.1| 1,651,460.1] 8351229 41,6986 45,1514
0cep” °3a00
=1 ATasU
PSRV T1=13Y 1SEé»h 1518,602.1| 333,119.2 333,1192 44,9015 449015 8734531 2136153| 388,772.9| 258942 26,7959
=1 ATaiU
I > 1 CT 12631A0A&0Y YR 815,709.3| 186,219.0 186,219.0| 4,866.3 4,866.3| 487,086.3] 118,102.8| 201,658.0] 15506.0| 18,523.9
- TaUaY3E 1363laAlany Yo 53504.1| 31,216.8 31,216.8 200.0 200.0 20,322.2 6,510.8]  11,394.9 2078 180.2
1330 13631a0Aa0YYoh 554,544.8| 111,363.4 111,3634] 12,3592 12,359.2| 3109487 553565 170,720.0| 9,260.4] 77,7718
-233Ma1=3- A= 13V 1SEénh 20,210.0 4,320.0 4,320.0 640.0 640.0 10,640.0 2,480.0 5,000.0 320.0 320.0
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20lae=T 01-01-01

1 2 3 4 5 6 7 8 9 10
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 74,633.9 0.0 0.0 26,836.0 26,836.0 44,455.9 31,165.2 0.0 600.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 1,311,216.3| 350,000.0 350,000.0 61,681.1 61,681.1 740,616.6 579,133.2 89,500.0 3,034.4 3,050.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 754,872.8 219,856.0 219,856.0| 13,883.5 13,883.5 396,996.4 240,884.0 135,850.0 900.0 3,160.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 14,201.2 6,000.0 6,000.0 420.0 420.0 5,000.0 1,000.0 4,000.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 50,547.8 3,000.0 3,000.0 1,967.8 1,967.8 24,737.2 1,944.0 12,800.0 300.0 950.0
- DO IBTT3T3Y 1363(aAlaiYY»h 65,325.4 15,856.0 15,856.0 4,995.7 4,995.7 31,213.2 10,000.0 15,550.0 300.0 1,610.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 5,000.0 0.0 0.0 5,000.0 5,000.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 2,000.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 607,559.8 195,000.0 195,000.0 1,500.0 1,500.0 332,440.0 225,940.0 103,500.0 300.0 300.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 10,238.6 0.0 0.0 0.0 0.0 1,606.0 0.0 0.0 0.0 300.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 2,743.0 0.0 0.0 0.0 0.0 2,617.0 0.0 0.0 0.0 200.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 2,743.0 0.0 0.0 0.0 0.0 2,617.0 0.0 0.0 0.0 200.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 528,893.1 20,000.0 20,000.0 4,024.0 4,024.0 470,011.7 434,679.2 17,000.0 2,400.0 1,200.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 11,650.0 0.0 0.0 0.0 0.0 11,300.0 10,000.0 1,000.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 517,243.1 20,000.0 20,000.0 4,024.0 4,024.0 458,711.7 424,679.2 16,000.0 2,400.0 1,200.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 914,005.1 240,152.0 240,152.0| 23,706.9 23,706.9 491,881.3 183,148.4 204,000.0 9,470.01 10,7455
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 177,434.0 52,862.2 52,862.2 6,459.9 6,459.9 78,396.3 31,367.0 29,000.0 1,858.0 1,729.0
- A0 TY W »82T3Y SAA3YUY»h 8,319.5 5,653.0 5,653.0 0.0 0.0 2,666.5 2,666.5 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 628,640.2 123,958.4 123,958.4( 15,200.0 15,200.0 378,154.6 119,014.9 175,000.0 7,412.0 8,812.0
- 1»Y6303(CY " N3YA=CY 6YY1C YlAdA»f 61,277.6 19,344.6 19,344.6 2,047.0 2,047.0 32,663.9 30,100.0 0.0 200.0 204.5
- D3 a0l YA3 W 313(CY 3 YiaiA»i 38,333.8 38,333.8 38,333.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
€ao” ek, £E20°8 338,147.6 0.0 0.0 0.0 0.0 338,147.6 338,147.6 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 338,147.6 0.0 0.0 0.0 0.0 338,147.6 338,147.6 0.0 0.0 0.0
31 Afadu
- ééf]pé@lgs"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 338,147.6 0.0 0.0 0.0 0.0 338,147.6 338,147.6 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 1,220,144.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 3,989.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 3,989.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ T3I3YN3TI31C 3 1,216,155.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYASG6CT 640U T»YAC3Y»A NSUSYUY»ACY 1,092,877.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-01-01

1 2 3 4 6 7 8 9 10
~2E AYASOCT AnSUSRYARNY 123.278.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=2étuos 21 1°Ué2Aab21U°s 455,000.0 105,000.0 105,000.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
31 Atadu
éééQ3E3-l-3Y 0-YalAIBY 1A3UST3Y 3 3N3naiAlSup 455,000.0 105,000.0 105,000.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
Ya3&uY»h (lase»Co)
31 Atadu
- 2F Ya3e 7 Y»h pladc»Co 455,000.0 105,000.0 105,000.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
20E 12E6°8 338,8229| 54,4508 54,450.8 176.0 176.0|  251,1375| 1944235|  52,400.0 3119 498.2
31 Atadu
D3RIoN, A2 S1CR Tx2AT»n T alkoR, AHaT0 ‘ 22,1166] 44598 44598[  176.0 1760| 130455 64235  24000|  3119|  498.2
I3e3|'3ﬁU3Y -I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 316,706.3 50,000.0 50,000.0 0.0 0.0 238,092.0 188,000.0 50,000.0 0.0 0.0
32 UEU=062120 2TTA1U°SE 1141 12E6°8 697,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 697,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 pEUasAVasuUCH 608,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 45,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 563,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o7 é23g2T1adaigued 65,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 65,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/E@QZTZU DExadUed 24,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIRAST3Y NCUYST3Y UCcany»h 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- USBE3 - I3 T3%AT313Y I3Eé»i 22,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y ase»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» W 2ICY T2Ee»AC -af136Y2T3Y 1263137 U3Y 01 u=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

20lae=T 01-01-01

S ATa00 ASH 1A= -fofiG

TanT=1GA CREZYAIAIRY, &» W =T3Y 126213103 (BYA=&»ST3Y 7 1 Si=u=gY
T=6=73A0=Y USAUCYY»ic a=la=Yail

TaiT=21Ch CRE=VAARY, &» =3T3y
T26313/03Y (3YASa» 313y

TIASU3CY 136313003y
U=3alcYY»ic &=3Na=vail
(YSESASAT»AC SRESTSTIU»AG

U=ear)
T ey A A £ 3 AfaiU Aer 3 AfaU Aer
113 33 33 - ~ . - ~ .
BAtI=IC SYi=vaua T3 3a0Y»AC - TS T3Aa0Y»AC
B
> > > > > > > > 0 > > RS
en Sn n o 0 0 en 0 = o5 238 23
e = = Soc Oac e G S \— MM cig S i
- g w0 no n o o {0 < 2R0=8 =3
il 2 = 8 = - < = e 8% i A woy 0
2a | &4 | 24 | =4 | Sa | S4 | va | L4 7 |Filoi| 8=l
N R K] < < < - < d =) 0
2% | =& s | 8L | PR | 8% | sk | BE | = |Z2TRY| <%
D 8 D D D D D D D 8 — u@_ :m% (Q_
11 12 13 14 15 16 17 18 19 20 21
AU _20°UA 12E6°8 505,983.7| 681,348.5| 580,934.6] 521,589.0| 598,038.4| 527,471.2| 383,069.0| 502,428.4| 1,980,673.6 144,751.6| 90,910.3
=1 Afasl
AUAZOET 12E6°8 505,983.7| 681,348.5| 580,934.6] 521,589.0| 598,038.4| 527,471.2| 383,069.0| 502,428.4| 1,980,673.6 144,751.6| 90,910.3
=1 Afasl
2pE2120pk 1200218a0A0a0U 435,835.7| 593,287.3| 494516.2| 433,556.3| 514,691.6| 437,770.4| 313,212.5| 382,345.8| 1,522,449.1 121,448.0| 78,198.1
=1 Afasl
_SUAT 1x3nT140 SRES TS 1310 NS 103 [ x31Y»A 435,835.7| 593,287.3| 494516.2| 433,556.3| 514,691.6| 437,770.4| 313,212.5| 382,345.8| 1,522,449.1 121,448.0| 78,198.1
=1 Afasl
- 2RESTA0V»AC SRES N ST 20000 - N2 1»E2 1x2AY A 201,867.0| 545,920.6] 454,771.0| 399,509.1| 474,260.2| 403,671.1| 290,138.1| 352,506.2| 1,473,412.7 121,448.0| 78,198.1
“Aa=n- S TnaUY»n, ISU=13Y EnSEaseaily»n NS aol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0| 49,0364 0.0 0.0
Tx3AY»A
- 53030363 13Y, 1313137 - a» 1313y 3E 33,968.7| 47,366.7| 39,7452| 34,047.2| 40,431.4| 34,099.3| 23,074.4| 29,8396 0.0 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
1282020A0200U°8E ©1 2a62UgU°8K 39,685.6] 57,342.5| 56,188.7| 57,567.6| 52,938.8| 59,196.7| 39,453.7| 39,7695| 443,587.8 19,201.7| 12,657.2
0°er” 3200
=1 Afasl
P=hacy = 1=1=Y 12E6xh 22,990.2| 31,419.0| 29,848.1| 38,5436| 32,2085| 24,269.9] 18893.5| 20,202.0| 108,849.8 6,294.6| 4,6452
=1 Afasl
“UY»ii-> 0 CT 12631A0AIE0Y Y»h 15,166.6| 21,015.7| 19,4205| 26,134.1| 19,841.1| 12,386.8| 10,378.4| 8,952.4| 350951 3,580.3| 2,113.8
- TaUaoY =t 1=6=la0kasy »n 214.2 295.4 396.1 210.3 267.1 305.8 1545 185.1 403.4 65.2 226
“T=AC 1=26=1a0Aa0Y Vi 7280.4] 91429 8,7415| 64472 10,3959| 95248 76280 86703 669413 2,400.1| 2,308.8
-2&83Nai == 13Y 12Eé»h 320.0 280.0 360.0 320.0 320.0 320.0 320.0 280.0 3,410.0 240.0 200.0
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20lae=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 685.0 930.0 5,432.0 1,384.4 1,732.5 412.6 2,114.2 3,000.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 4,085.4( 11,652.0 9,868.8 4,057.8 6,582.0( 16,608.1 6,358.6 6,686.3 131,950.1 1,883.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 850.0 1,856.0 1,930.0 2,700.0 1,697.0 3,727.2 2,080.0 1,362.2 87,463.1 2,018.6( 1,500.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 300.0 800.0 980.0 1,500.0 812.0 2,237.2 1,230.0 884.0 1,322.8 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 250.0 500.0 550.0 450.0 585.0 790.0 450.0 178.2 7,092.2 296.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 300.0 300.0 300.0 300.0 300.0 300.0 300.0 300.0 77,935.5 1,500.0f 1,500.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 256.0 100.0 450.0 0.0 400.0 100.0 0.0 1,112.6 222.6 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 170.0 1,490.0 0.0 196.4 102.6 429.7 28.3 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 170.0 1,490.0 0.0 196.4 102.6 429.7 28.3 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 808.0 2,123.0 1,273.0 1,600.0 2,162.0 2,150.0 1,7935 2,823.0 23,415.8 1,693.6| 1,195.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 300.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 808.0 2,123.0 1,273.0 1,600.0 1,862.0 2,150.0 1,7935 2,823.0 23,415.8 1,693.6| 1,195.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 10,952.0( 10,1225 11,778.8| 10,666.2| 10,092.9| 12,338.9 9,898.4 8,667.7 91,909.0 7,311.9( 5,317.0
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 1,690.0 2,930.5 1,851.1 2,076.2 1,828.9 934.4 1,675.2 1,456.0 9,777.3 961.5 567.0
- A0 TY W »82T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 9,004.0 6,820.0 9,728.0 8,312.0 8,000.0] 11,112.0 7,952.0 6,987.7 81,215.9 6,320.4 4,750.0
- 1»Y6303(CY " N3YA=CY 6YY1C YlAdA»f 258.0 372.0 199.7 278.0 264.0 292.5 271.2 224.0 915.8 30.0 0.0
- D3 a0l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- ééf]pé@lgs"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
31 Afadu
-AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYASG6CT 640U T»YAC3Y»A NSUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




88

20lase=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
~2E AYASOCT AnSUSRYARNY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=2étuos 21 1°Ué2Aab21U°s 30,000.0({ 30,000.0f 30,000.0| 30,000.0f 30,000.0f{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
31 Atadu
éééQ3E3-l-3Y 0-YalAIBY 1A3UST3Y 3 3N3naiAlSup 30,000.0( 30,000.0f 30,000.0f 30,000.0f 30,000.0{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
Ya3&uY»h (lase»Co)
31 Atadu
- 2F Ya3e 7 Y»h pladc»Co 30,000.0( 30,000.0f 30,000.0f 30,000.0f 30,000.0{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 462.4 718.7 229.7 465.1 408.0 504.1 402.8 313.1 10,647.2 112.4 55.0
31 Atadu
D3RIoN, A2 S1CR Tx2AT»n T alkoR, AHaT0 ‘ 462.4|  7187|  229.7| 4651  4080|  412.1|  4028|  38131]| 11472 1124 550
I3e3|'3ﬁU3Y -I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 92.0 0.0 0.0 9,500.0 0.0 0.0
32 UEU=062120 2TTA1U°SE 1141 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEURDAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a00U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/E@QZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIRAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- USBE3 - I3 T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y ase»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» W 2ICY T2Ee»AC -af136Y2T3Y 1263137 U3Y 01 u=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

20lae=T 01-01-01

Pa1T=1¢ =Yi=VaslA

S ATa0l ASH T7= - ffiG

TanT=1GA CRE=VAIAIRY, &» W 3T3Y T262T3AUSY SYA=&»WST3Y 7~ W3S T0=0Y 1263 12AUSY USAUCYY»AC &=Na=VaiU

(V2ESASAY»AC SREST2TW»AC US84T)

21 Afal Ae
T=02R80V»AC

> > > : f’cy H : >
U o = [V 0> oxs | B = o =l o & NS oS
i< g " S >~ 8 i< 8 <8 | weEg | s 3 o8 | 3 S| = S @ 8 €
g | I | 92| BE| SE | sad|eiE| 2% |FloEl 5 § g2 | £%
-G ‘O @ ) ot > @ L g O B =4 U Rl 0 =8 T S8 T 5 L @
75| Sk | REF | ghi | eek | SR | EET| £ |slan| 395 | s2h | £
8 (’H') e o= Spvelis 8 frZU e 8 > Aol o < o & & Q} ’05): c | =0 8 = > e
Lo = IS w7 =0 |0 lEs0 | 20 |YUSLe | L=0 S0 g
U] 1 ~: 8 1 oG 1 M W o _0’)_ Eill| il 8 Eil| 0] 58 Eill| - Eill| 10')0 Eill| 1
=21 82 2 nd 20 | sl |8 2 2 R B nl a0
" 1 = 8% 8 & >
22 23 24 25 26 27 28 29 30 31 32 33
AU _2@°UA 12Eé&°d 98,228.9| 134,955.4| 299,281.5| 74,946.0| 116,153.6( 92,574.0( 78,512.7| 76,277.9| 104,997.7| 102,040.1] 101,490.7| 216,805.0
=1 Afaiu
AUAZOET 12Eé°d 98,228.9| 134,955.4| 299,281.5| 74,946.0| 116,153.6( 92,574.0( 78,512.7| 76,277.9| 104,997.7| 102,040.1] 101,490.7| 216,805.0
=1 Aol
2pE2T2Ugk 12802Tda0AUacU 81,267.2( 112,303.6( 114,029.0| 65,316.8| 101,472.9| 76,360.5| 65,204.0( 63,132.6 87,938.2( 80,418.8( 86,919.9| 197,086.3
=1 Afaiu
_ABUAT 1x31T40 SRESTST3A0»0 NS> Tx3Y»h 81,267.2( 112,303.6( 114,029.0| 65,316.8| 101,472.9| 76,360.5| 65,204.0( 63,132.6 87,938.2( 80,418.8( 86,919.9| 197,086.3
=1 Afagu
- 2REZTA0Y»AC SRESTST3A0»A NS I»ES Tx3MY»f 81,267.2( 112,303.6( 114,029.0| 65,316.8| 101,472.9| 76,360.5| 65,204.0( 63,132.6 87,938.2( 80,418.8( 86,919.9| 148,049.9
- &30- 37 RalY»n, SUST3Y EABEAaiaUY»A " NS ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 49,036.4
Tx3AY»h
- 6203026031, 122137 &> n=13Y 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
12&20a0AladUUCBE 1 2a82UgU°dE 16,906.7| 22,578.8| 185,197.5| 9,573.2| 14,577.5| 16,128.5( 13,275.7| 13,101.3 16,948.9| 21,566.3| 14,515.8| 19,584.7
0°ep” 232060
=1 Afagu
b3RaY S 1313Y 1SEExh 7.6441| 12,4468| 8,7252| 3267.7| 52726| 85515 7,463.8| 59525 4,1933| 12,0595| 42564 45845
=1 ATadu
- YY»f-» W CT 13é3(a0AlasYY»hi 3,605.5 4,349.9 1,407.9 692.4 1,197.2| 4,483.2 855.6| 1,289.1 848.5 5,496.3 1,774.6 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 21.0 49.8 294 0.0 34.8 22.3 25.8 0.0 0.0 21.8 50.0 0.0
- 13AC 13é3aAlasY Y»h 3,817.6 7,767.1 7,077.9 2,455.3 3,800.6| 3,846.0| 6,462.4( 4,503.4 3,064.8 3,341.4 2,231.8 4,264.5
- 283NaT=3-(=313Y I13Eé»h 200.0 280.0 210.0 120.0 240.0 200.0 120.0 160.0 280.0 200.0 200.0 320.0




06

20lae=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32 33
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,000.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 505.0( 117,000.0 795.9 501.8 365.2 0.0 500.0 2,598.2 0.0 550.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 1,632.9 1,500.0| 51,274.1 1,500.0 1,500.0( 1,092.0| 1,500.0( 1,563.0 1,618.3 2,660.8 2,113.4 3,600.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 0.0 0.0 0.0 0.0 142.0 0.0 0.0 0.0 0.0 780.8 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 132.9 0.0 1,088.6 0.0 0.0 0.0 0.0 63.0 118.3 620.8 282.6 750.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 1,500.0 1,500.0/ 50,185.5( 1,500.0 1,500.0 950.0( 1,500.0( 1,500.0 1,500.0 1,500.0 1,050.0 2,500.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 540.0 0.0 350.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 1,291.0 1,950.0 750.0 700.0 1,500.0( 1,857.5| 1,059.0 756.0 2,312.0 1,000.0 1,795.1 2,612.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 1,291.0 1,950.0 750.0 700.0 1,500.0( 1,857.5| 1,059.0 756.0 2,312.0 1,000.0 1,795.1 2,612.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 6,338.7 6,177.0 7,448.2( 3,309.6 5,803.1| 4,262.3| 3,252.9| 4,329.8 6,227.1 5,846.0 5,800.9 8,788.2
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 1,520.5 800.0 250.6 265.6 125.4 154.7 355.0 304.4 121.3 601.0 951.0 1,888.2
- A0 TY W »82T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 4,750.0 5,377.0 7,197.6( 3,044.0 5,632.0| 4,107.6( 2,850.0| 4,000.0 6,011.0 5,245.0 4,649.9 6,900.0
- 1»Y6303(CY " N3YA=CY 6YY1C YlAdA»f 68.2 0.0 0.0 0.0 45.7 0.0 47.9 25.4 94.8 0.0 200.0 0.0
- D3 a0l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- ééf]pé@lgs"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYASG6CT 640U T»YAC3Y»A NSUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




16

20lase=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32 33
~2E AYASOCT AnSUSRYARNY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
éééQ3E3-l-3Y 0-YalAIBY 1A3UST3Y 3 3N3naiAlSup 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3&uY»h (lase»Co)
31 Atadu
- 2F Ya3e 7 Y»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 55.0 73.0 55.0 56.0 103.2 85.0 33.0 44.0 110.6 55.0 55.0 134.0
31 Atadu
D3RIoN, A2 S1CR Tx2AT»n T alkoR, AHaT0 ‘ 55.0 73.0 55.0 56.0[  103.2 850] 330 440 110.6 55.0 550  134.0
I3e3|'3ﬁU3Y -I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 2TTA1U°SE 1141 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEURDAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a00U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/E@QZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIRAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- USBE3 - I3 T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y ase»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» W 2ICY T2Ee»AC -af136Y2T3Y 1263137 U3Y 01 u=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

20lae=T 01-01-01

Sl ATa00 AST T7=-fiofiG

TaRT=1Ch CRE=VAAIRY, B3T3y
T36313AU3Y NBYAS ST 3ISY
TIASIU2BCY T263 13003y
U=A0CYY»AC &=3Na=vail
(YSESASAT»AC SRESTSTIU»AG

TART31CA CRE3VAGAISY, ar T3T3Y TS6313A0U3Y
NBYAZ&» 1 3T3Y " 321030 1363 13A/03Y
U3AUCYY»AC &=Na=Yail (YSE3n3iAaiAlasyY»Ac

SRESTST3UUSAC US64T)

T23AERT2Y Qb T Y»AC
RCY2A=RasAlasY

U3ear)
e ) £ AR £ 31 Aracl Aewr 3 Ataol Aer 31 Arasl Aer
1i3[Cc 3Vi=3 i o . - . o
BatT=1G =Yi=vaUa IS 3a0V»AC - IS 3RA0YAC w |13 r3ra0vmic
& &
7ol s l. . ex 0 = ozl &= = 0 oo
iz 8 oF |5y 58 = | @y 88 =3 ] o3 | = ==
o8 I S DRI \ 00 c i N S5 ! nn
- e ® NN BRI < 220 =a =G RIRNG < ;-
e A 8 < 2.8 A " i 2 = 8 A [yl I(")
g M 20 10 e R > e % K0 T 0 > 1L
em:mm et o< QZ PR 0] 0 - Oc 0= o & U] )
@ () = U] U] g~'>_ 'm ',ll U] o ) c V- U} e U} U] o D
i1 8 Eif| > 2w > =0 e M L 8 Eif| > =
85 7 n | 8"k < a0 " sy a9 0 < 85
z% > > 5 > - (.)’~>_ sz > >
34 35 36 37 38 39 40 41 42
AU _2@°UA 12Eé&°3s 82,362.2| 93,764.2 72,621.8| 2,812,943.4 1,423,872.5| 1,090,059.8| 299,011.1| 50,000.0 50,000.0
31 Arasl
AUA20LT 12Eé°8 82,362.2| 93,764.2 72,621.8| 2,812,943.4 1,423,872.5| 1,090,059.8| 299,011.1 0.0 0.0
31 Arasl
2pE2T2UgkE 12802TdatAlacU 64,796.0| 68,560.8 57,996.4| 2,528,287.4 1,289,515.9 969,955.5| 268,816.0 0.0 0.0
31 Arasl
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 64,796.0| 68,560.8 57,996.4| 2,528,287.4 1,289,515.9 969,955.5| 268,816.0 0.0 0.0
31 Arasl
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 64,796.0| 68,560.8 57,996.4| 2,309,830.2 1,178,246.3 886,195.6( 245,388.3 0.0 0.0
- 430 -3 NaUY»A, 1A3UST3Y EASE4aieaiUY»A " N3 rail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
11330?39?0(23]-3?, 13'!'3_I-?Y EES S R 0.0 0.0 0.0 218,457.2 111,269.6 83,759.9| 23,427.7 0.0 0.0
1=3¢3a0Y»iAC &3 - "3 nasu
12&20asAladuUUCBE @1 2482UgU°BE 15,522.2( 25,159.4 7,092.4 281,389.9 132,473.3 118,732.5| 30,184.1 0.0 0.0
0ceg” °daid
31 Arasl
P3AaYSIS13Y ISEé»h 6,459.4| 5,857.3 1,175.4 151,055.8 73,897.7 63,759.3| 13,398.8 0.0 0.0
31 Arasl
- YY»f-» W CT 13é3(a0AlasYY»hi 2,926.5 474.3 0.0 98,527.3 54,072.1 40,257.3 4,197.9 0.0 0.0
- TaU&iY3t 1=3é3achlasyYr»h 46.2 0.0 145 1,316.0 760.6 555.4 0.0 0.0 0.0
- T=2AC 136=3(a0AlaiYY»h 3,326.7( 5,223.0 1,040.9 49,750.5 18,265.0 22,324.6 9,160.9 0.0 0.0
- 283Nai=3-A313Y I2Eé»i 160.0 160.0 120.0 1,120.0 800.0 280.0 40.0 0.0 0.0
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20lae=T 01-01-01

34 35 36 37 38 39 40 41 42
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 342.0 0.0 342.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 2,001.0( 5,050.0 200.0 26,968.5 10,571.7 8,320.0 8,076.8 0.0 0.0
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I3%U=3T»A&40AIA6Y Y»ACY
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52 53 54 55 56 57 58 59 60
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,400.0 1,400.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 980.0 980.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 270.0 270.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 150.0 150.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 524.0 524.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 524.0 524.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1,745.6 1,745.6
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 0.0 0.0 0.0 0.0 0.0 0.0 0.0 747.9 747.9
- A0 TY W »82T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 950.0 950.0
- 1»Y6303(CY " N3YA=CY 6YY1C YlAdA»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 47.7 47.7
- D3 a0l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- ééf]pé@lgs"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 123,278.0 123,278.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQ| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 0.0 123,278.0 123,278.0 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYASG6CT 640U T»YAC3Y»A NSUSYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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31 Atadu
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31 Atadu
- 2F Ya3e 7 Y»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11.0 11.0
31 Atadu
D3RIoN, A2 S1CR Tx2AT»n T alkoR, AHaT0 ‘ 0.0 0o[ 00 0.0 0.0 0.0 0o[ 110 11.0
I3e3|'3ﬁU3Y -I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 2TTA1U°SE 1141 12E6°8 65,000.0 60,000.0| 5,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 65,000.0( 60,000.0( 5,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEURDAUROUUCS 0.0 00[ 00 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o7 é23g2T1adaigued 65,000.0( 60,000.0( 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1353 13Y é3nu3T1analY»i 65,000.0( 60,000.0( 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/E@QZTZU DExadUed 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIRAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
- USBE3 - I3 T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




T0T

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

Sl ATa00 ASH 1A= -fiofiG

P T=&3T13faiABY

SESTST3UC

8UA»Y&1AAAISY T30- STaA0=Y
=y, 30 TyVuiay ! 1A= - fisfic

PD Sfi13iz13waAEY
YSE3fA3natAlsY
§2Y0OY3T3Y W 1Bt »iC
aspvasvaii=y

CRSTSY=6USY - AenV=1C RT=T=E0A=Y !
asfasyail asfasyail
T ey A A £ 3 Atas0 Aew 3 ATasU Aew
173 33 33 - ~ . - o,
BatT=1G =Yi=vaUa - =1 340V»AC - IS0 30V»AC
] a5 ] 0=
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Z 0d = o
= a0
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61 62 63 64
AU _2g°UA 12Eé°s 94,066.0 94,066.0| 22,215.0 22,215.0
3 ATasl
AUAZOAT 12E6&°5 94,066.0 94,066.0| 22,215.0 22,215.0
3 A4l
2pE=72Ugk 12802T8a0Ala00 80,000.0 80,0000 22,215.0 22,215.0
3 A4l
_i30a1 1x3A140 SRESTST3A0»N ~ NS 13 1x3AY»A 80,000.0 80,0000 22,215.0 22,215.0
3 A4l
- 2RESTA0Y»NC SRES 1S T3M0»N -~ NS 1»E2 1 x3AY»1 80,000.0 80,0000 21,508.2 21,508.2
- Aa3n- 31 RaUY»n, 13U 13Y EnSEaealy»n - NS apl 0.0 0.0 0.0 0.0
TX3fY»ii
- 630302600313, 137313V~ & =13Y 3F 0.0 0.0 706.8 706.8
36300Y»iC &3 - =rhail
T12&2020AU2000°8£ ©1 =2a820g0°8k 14,055.0 14,055.0 0.0 0.0
Ocep” ©5200
3 A4l
P3RAY SIS 13Y ISEe»N 6,492.9 6,492.9 0.0 0.0
3 A4l
- 3> -» 0 Gl 13e3[a0AasYY»h 3,499.7 3,499.7 0.0 0.0
- Talay3E 1=63lachlany Vi 37.2 37.2 0.0 0.0
- T3AC 1=63lasAlany Y»n 2,916.0 2,916.0 0.0 0.0
- 2330413 -A3T3Y 13Ee»n 40.0 40.0 0.0 0.0
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61 62 63 64
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0
Tan1ai0aiUY»AC =~ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 3,654.3 3,654.3 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 500.0 500.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 100.0 100.0 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C 1363(40AlA0YY» i 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 534.3 534.3 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 2,520.0 2,520.0 0.0 0.0
2UE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 1,600.0 1,600.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 350.0 350.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 1,250.0 1,250.0 0.0 0.0
a=Na=vas
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 2,307.8 2,307.8 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 999.4 999.4 0.0 0.0
- A0 TY W »82T3Y SAA3YUY»h 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 816.0 816.0 0.0 0.0
- 1»Y6303(CY " N3YA=CY 6YY1C YlAdA»f 492.4 492.4 0.0 0.0
- D3 a0l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0
eas” é/E‘bﬁEZL"JOé 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
- éé@péCJ-QE‘Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
)6%@290369006 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-=CY T3S T»NAatAAsYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQI 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I. 1r~)3U3jBYéﬁN“{»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYASG6CT 640U T»YAC3Y»A NSUSYUY»ACY 0.0 0.0 0.0 0.0
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»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0
32 UEU=062120 2TTA1U°SE 1141 12E6°8 0.0 0.0 0.0 0.0
31 Atadu
D/!E@pz’l\?U ofkxaoU°d 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEURDAUROUUCS 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0
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- USBE3 - I3 T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0
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AU)ZQOUA 12Eé°5 48,361,526.9 31,000.0 31,000.0( 1,041,254.4 1,041,254.4( 15,249,262.8 15,249,262.8( 141,129.7 141,129.7
3 ATasl
AUAZ20ET 12Eé°d 48,011,526.9 31,000.0 31,000.0( 1,041,254.4 1,041,254.4( 15,249,262.8 15,249,262.8( 141,129.7 141,129.7
3 A4l
2pE2T2Ugk 12802Tda0AlascU 13,297,856.0 0.0 0.0 0.0 0.0] 13,297,856.0 13,297,856.0 0.0 0.0
3 A4l
_A=UAT Tx2n140 SRES T 212005 NS ToE2 X2V 13,297,856.0 0.0 0.0 0.0 0.0| 13,297,856.0|  13,297,856.0 0.0 0.0
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 9,391,797.3 0.0 0.0 0.0 0.0 9,391,797.3 9,391,797.3 0.0 0.0
Ta=n- = TREUTN, 120> 12Y ERSEaiealy»n - N=Tal | 3,089,312.8 0.0 0.0 0.0 00| 3,089,312.8 3,089,312.8 0.0 0.0
x3fAY»f
~ =05 0=P00T3Y, BT STSY -~ & h =13 SF 816,745.9 0.0 0.0 0.0 00| 816,745.9 816,745.9 0.0 0.0
13631a0V»AC A=A -3 Th&U
12&20a0AlasuUCBE ©1 24a62UgU°dA 2,090,408.3 31,000.0 31,000.0 0.0 0.0 1,936,986.3 1,936,986.3| 122,422.0 122,422.0
0ceg” °daid
3 A4l
P3RaYSISI3Y ISEé»fi 675,121.7 0.0 0.0 0.0 0.0 623,651.7 623,651.7 51,470.0 51,470.0
3 A4l
CMARTBEV313Y ~ i3V I3CY 1263@0AaN Y»iC 1SEe»n 51,470.0 0.0 0.0 0.0 0.0 0.0 0.0| 51,470.0 51,470.0
- %Y»f - » Gl 13é3(a5AIa0Y Y»fi 322,561.3 0.0 0.0 0.0 0.0 322,561.3 322,561.3 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 6,264.7 0.0 0.0 0.0 0.0 6,264.7 6,264.7 0.0 0.0
“T1=AC 12631a0Aa0Y VA 136,546.5 0.0 0.0 0.0 00| 1365465 136,546.5 0.0 0.0
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1 2 3 4 5 6 7 8 9
- 283NaT=3-(=313Y I13Eé»h 3,040.0 0.0 0.0 0.0 0.0 3,040.0 3,040.0 0.0 0.0
- Ta0l0C ~* =303 TanaslY»iac 1303 T3EaoAlasy 136,239.2 0.0 0.0 0.0 0.0 136,239.2 136,239.2 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 19,000.0 0.0 0.0 0.0 0.0 19,000.0 19,000.0 0.0 0.0
an1a0a00Y»C ~* RAc= - S(aGAlAYY»AC 1S Eéxf 205,061.5 0.0 0.0 0.0 0.0 205,061.5 205,061.5 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 914,600.4| 31,000.0 31,000.0 0.0 0.0 812,648.4 812,648.4| 70,952.0 70,952.0
31 Afadu
- D3U3T31-53CY 1363[a0AIa6YY»1 711,997.0 0.0 0.0 0.0 0.0 641,297.0 641,297.0( 70,700.0 70,700.0
- DO IBTT3T3Y 1363(aAlaiYY»h 120,590.0( 31,000.0 31,000.0 0.0 0.0 89,338.0 89,338.0 252.0 252.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 709.8 0.0 0.0 0.0 0.0 709.8 709.8 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 2,000.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 79,303.6 0.0 0.0 0.0 0.0 79,303.6 79,303.6 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 22,100.0 0.0 0.0 0.0 0.0 22,100.0 22,100.0 0.0 0.0
YlaoA»fi)
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- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 22,100.0 0.0 0.0 0.0 0.0 22,100.0 22,100.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 273,524.7 0.0 0.0 0.0 0.0 273,524.7 273,524.7 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406w 192,276.1 0.0 0.0 0.0 0.0 192,276.1 192,276.1 0.0 0.0
- TASYeAan r3(QY YlaiA»i 78,964.0 0.0 0.0 0.0 0.0 78,964.0 78,964.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 2,284.6 0.0 0.0 0.0 0.0 2,284.6 2,284.6 0.0 0.0
562~®2PU&690°6 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYASACT 13 U3RYAANY»f 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 3,358,013.5 0.0 0.0| 1,041,254.4 1,041,254.4 14,420.5 14,420.5| 18,707.7 18,707.7
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 8,971.5 0.0 0.0 0.0 0.0 8,971.5 8,971.5 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 3,349,042.0 0.0 0.0| 1,041,254.4 1,041,254.4 5,449.0 5,449.0( 18,707.7 18,707.7
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
@?Z?U?U°6 °i é28g2T1a6agues 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»A  é3Au3T1anauY»i 350,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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SRESTST3W»AC U=84T)
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22 Afal AST
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2 Afal AST
T=02/80V»AC

2 Afal AS
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10 11 12 13 14 15 16 17
AU)ZQOUA 12E68°56 29,265,249.1 29,265,249.1( 45,000.0 45,000.0 350,000.0 350,000.0| 2,208,000.0 2,208,000.0
=1 Afasl
AUAZ0LT 12Eé°5 29,265,249.1 29,265,249.1( 45,000.0 45,000.0 0.0 0.0 2,208,000.0 2,208,000.0
=1 Afasl
2pE2T2Ugk 12802T0a0Alasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
. A3UAT 1x3AT40 3RE3T3T3A0»A " NST»E3 1x3AY»fA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- a3f- 3T RaUY»A, TASUBT3Y ENSBE&ieaiUY»A " NS al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»A
~0=0=0=6C 1Y, ST By w2137 IF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &3 - "3 nasu
12e20asAlasuUCBE ©1 2a82UgU°sE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°Peg” °dad
=1 Afasl
P2AAYSI213Y IBEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TaRTSEVII3Y -~ i3VI3KY 1363 aAa0TY»1G 1SEemh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IR > I CT 136310 Yo 0.0 0.0 00 00 0.0 0.0 0.0 0.0
- TAU&Y3E 13é63(a0AIaY Y»hi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANa0TYoh 0.0 0.0 00 00 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Ta0l0C ~* =303 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an1a0a00Y»C ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U3T31-53CY 1363[a0AIa6YY»1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYeAan r3(QY YlaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 29,265,249.1 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 29,265,249.1 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYASACT 13 U3RYAANY»f 29,265,249.1 29,265,249.1 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0| 45,000.0 45,000.0 0.0 0.0| 2,208,000.0 2,208,000.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 0.0 0.0| 45,000.0 45,000.0 0.0 0.0 2,208,000.0 2,208,000.0
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 0.0 0.0 0.0 0.0 350,000.0 350,000.0 0.0 0.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 0.0 0.0 0.0 0.0 350,000.0 350,000.0 0.0 0.0
31 Afadu
@?Z?U?U°6 °i é28g2T1a6agues 0.0 0.0 0.0 0.0 350,000.0 350,000.0 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»A  é3Au3T1anauY»i 0.0 0.0 0.0 0.0 350,000.0 350,000.0 0.0 0.0
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3 ATasl
AUAZ20ET 12Eé°d 30,630.9 30,630.9
3 A4l
2pE2T2Ugk 12802Tda0AlascU 0.0 0.0
3 A4l
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0
3 A4l
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- a3 - 37 nalY»A, 1HSUST3Y EA3EAealUY»0 N3 1 al 0.0 0.0
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18 19
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0
- Ta0l0C ~* =303 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 0.0 0.0
Tan1ai0aiUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
aSI7= oY SE 1565 ARG 060 Aa 00 00
31 Afadu
- D2U=T31-53CY 1363[a0Ala5YY»i 0.0 0.0
- DO IS TT3T3Y 1363(40AIa0YY»h 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0
- AYIN3YAH7 pYadlAc 3E 1=3¢3a6AlaiY Y»h 0.0 0.0
AYA36CT Yana-ail = a3Na3YaoU (1363[acAlasyY»n 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vas
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406w 0.0 0.0
- TASYeAan r3(QY YlaiA»i 0.0 0.0
- T»Y6303(CY " NBYAZ(CY 8YY1C YIasA»h 0.0 0.0
. 6%@290369006 0.0 0.0
31 Afadu
AY_A_36Q-I. ?—_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYASACT 13 U3RYAANY»f 0.0 0.0
ZQE ~‘I 2Eé°6 30,630.9 30,630.9
31 Afadu
D3>, é?ﬁjl'31(2ﬁ I'X?ﬁY»ﬁ . 'I'él’f)UA»ﬁ, éﬁ?’lYU ‘ 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 30,630.9 30,630.9
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 0.0 0.0
31 Afadu
D/E@pzizU PExAOUCS 0.0 0.0
31 Afadu
@?Z?Uéuoé °i é28g2T1a6agues 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»A  é3Au3T1anauY»i 0.0 0.0
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D=l 1 BV A &ASY
SY130=T6a0ABY Tx3AY»0

233 03vi=yY
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X .- X > oy =3 X )
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0
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1 2 3 4 5 6 7 8 9
AU _2@°UA 12E&°8 14,715,121.5] 9,587,637.2 9,587,637.2| 2,607,204.0] 151,122.1] 2,420,167.4] 35,914.5] 350,000.0 350,000.0
31 Arasl
AUAZOAT 12EE°8 14,681,321.7| 9,587,637.2 9,587,637.2| 2,607,204.0| 151,122.1| 2,420,167.4| 35,9145 350,000.0 350,000.0
31 Arasl
2pE=12Upk 1200210a0A0a0U 1,078,822.6 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_n30a1 1x3A140 SREST3T300»0 -~ NS 1»E3 1x3AY 1,078,822.6 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2REZTA0V»AC SRESTST310» ~ NS 1»E2 Tx3AV»A 989,718.4 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2303036C313Y, 13313V~ > 13137 3 89,104.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=363140Y»iC &= - =1 ail
1262020AU2600°8K °1 2a52UgU°3k 1,092,805.1 42,000.0 42,000.0 0.0 0.0 0.0 0.0 0.0 0.0
O0ceg” ©5a60
31 Arasl
P2RAV=T=1=Y 1=Eé»h 1243717 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AfasU
SR> W CT 1263a0Aa0Y Y»h 47,661.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaUaby3t 1363lacAlary Y»n 404.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3AC 1363(a0Ala0Y Vi 75,7455 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7 8 9
- 283NaT=3-(=313Y I13Eé»h 560.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 734,646.6 42,000.0 42,000.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 191,356.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 996.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 17,589.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 69,918.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064064=3T3Y 13Eé»h 8,250.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 94,602.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 6,472.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 6,472.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 35,958.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»h ™ N3 - 406 13,656.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 20,605.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 1,596.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D37 ail YA 3T3CY 3 YiaiA»i 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 2,607,204.0 0.0 0.0| 2,607,204.0( 151,122.1| 2,420,167.4( 35,914.5 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 2,607,204.0 0.0 0.0| 2,607,204.0( 151,122.1| 2,420,167.4| 35,914.5 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 2,607,204.0 0.0 0.0| 2,607,204.0( 151,122.1| 2,420,167.4| 35,914.5 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéoé 9,902,490.0| 9,543,637.2 9,543,637.2 0.0 0.0 0.0 0.0/ 350,000.0 350,000.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 192.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 9,902,297.6| 9,543,637.2 9,543,637.2 0.0 0.0 0.0 0.0 350,000.0 350,000.0
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 33,799.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 33,799.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUauUCS 33,799.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»AiC ~ RCYABAIAGYY»AC O»éup»iasu 33,799.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AU _20°UA 12E6°8 500,000.0 500,000.0] 176,899.3 176,899.3| 1,356,318.2| 1,279,562.7|  76,755.5| 33,799.8 33,799.8
3 A4l
AUAZOET 12E6°5 500,000.0 500,000.0] 176,899.3 176,899.3| 1,356,318.2| 1,279,562.7| 76,7555 0.0 0.0
3 A4l
2pbE2120pk 120021820A0a0U 0.0 0.0] 91,523.1 91,523.1| 9852995 9235332| 61,7663 0.0 0.0
3 A4l
_n=0al 1x3A140 SRES T ST200o0 N2 1»E2 1X3AY A 0.0 0.0] 91,523.1 91,523.1| 9852995 9235332| 61,7663 0.0 0.0
3 A4l
- 2RESTA0V»AC SRES W ST 20050 -~ N2 1562 1x3AY»A 0.0 0.0] 83,913.0 83,913.0] 903,805.4| 8462326 57,5728 0.0 0.0
- 2=0=30=0C313Y, 130313 - > 12137 3 0.0 00| 7.610.1 7610.1| 81,4941 77,3006 41935 0.0 0.0
126310Y»AC &30 =14l
1282020A0200U°8E ©1 2a062UgU°8K 500,000.0 500,000.0] 85,354.2 85,354.2| 370,848.3| 3559085| 14,9398 0.0 0.0
0°er” ©3a00
3 A4l
P=Ray = 1213y 1SE6xA 0.0 00| 09,1522 9,152.2| 1152195 111,114.7 4,104.8 0.0 0.0
3 A4l
“UY»ii-> 0 CT 1=26=1a0AIa0Y Y»h 0.0 0.0 0.0 0.0| 47,6619| 46557.6 1,104.3 0.0 0.0
- TaUa0Y =t 1=6=la0kasy Y»h 0.0 0.0 0.0 0.0 404.3 3738 305 0.0 0.0
“T=AC 1=26=1a0Aa0Y Vi 0.0 0.0] 90722 9,072.2| 66,673.3| 63,7433 2,930.0 0.0 0.0
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10 11 12 13 14 15 16 17 18
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0 80.0 80.0 480.0 440.0 40.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 500,000.0 500,000.0| 60,000.0 60,000.0 132,646.6 132,246.6 400.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 7,235.0 7,235.0 89,518.7 84,072.7 5,446.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 996.0 0.0 996.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 0.0 135.0 135.0 17,454.0 15,504.0 1,950.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 600.0 600.0 69,318.7 68,568.7 750.0 0.0 0.0
- U»Ail3[3064064=3T3Y 13Eé»h 0.0 0.0 6,500.0 6,500.0 1,750.0 0.0 1,750.0 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 1,972.0 1,972.0 4,500.0 3,700.0 800.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 0.0 0.0 1,972.0 1,972.0 4,500.0 3,700.0 800.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 6,995.0 6,995.0 28,963.5 24,774.5 4,189.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»h ™ N3 - 406 0.0 0.0 1,863.7 1,863.7 11,793.0 8,793.0 3,000.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 0.0 0.0 5,131.3 5,131.3 15,474.4 14,585.4 889.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 0.0 0.0 0.0 0.0 1,596.1 1,396.1 200.0 0.0 0.0
- D37 ail YA 3T3CY 3 YiaiA»i 0.0 0.0 0.0 0.0 100.0 0.0 100.0 0.0 0.0
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéoé 0.0 0.0 22.0 22.0 170.4 121.0 49.4 0.0 0.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 22.0 22.0 170.4 121.0 49.4 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,799.8 33,799.8
31 Afadu
D{EQL"JZ?ZU PExAOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,799.8 33,799.8
31 Afadu
Dc"['{ﬂoa 1 bEUaAUauUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,799.8 33,799.8
31 Afadu
- P»YU»AiC ~ RCYABAIAGYY»AC O»éup»iasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33,799.8 33,799.8




Vit

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01
EUC 03 126G Th=-fvAC - TaT N2 W= =1 K= T=6a00Y»7C T»iAT=YaUY A6w
[SE6»AC WY 1»63-Cr313Y 1363130-U3Y NaLT2TV»AC

S ATa0l ASH 1A= - fofiG

P2[eW2VC D2VA=E» T AAIBYA
B&NT»M»Y T2ATSYCR BY4RN»E40

- U=To-cvam
T>YRAYST22YC R»Y0C

T=2831640A=0p T»i=T=26406U=Y
T30S THA8A0AEYY>AC TA0UCO | SREZWSVAV»AC
U= Tai6 1= 126340AKVY»AC | TSEexic —aEf=Tase0=Y
10036 Tx3AU3Y [=Eexi PP U=eV=p=AcY
S A&l AST 3 Afagl Ae
S T=U31a0Y»AG T=U3ha0V»AC
Pali3IC 3Yi13YalUA
5 5
jlel jle O
n 0B n s
= 58 = =38
< » 8 < R
= > ac = >
d on d 0o
< ot Z =
80 T
2
19 20 21 22
AU, 20°UA 12Eé&°8 94,602.6 94,602.6| 8,660.4 8,660.4
=1 ATao0
AUAZ20LT 12Eé°d 94,602.6 94,602.6( 8,660.4 8,660.4
=1 ATao0
2pE2T2Ugk 12002TdadAlasu 0.0 0.0 0.0 0.0
=1 ATao0
_A3VAT 1x3i140 SRE3T 31300~ NS T»E3 Tx3AY»0 0.0 0.0 0.0 0.0
{1 ATao0
- 2RE '|'éf)\'(»ﬁ§: SREST3T3A0»A " NST»E3B Tx3AY»f 0.0 0.0 0.0 0.0
- 2303036C313Y, 13733V~ a1 313V 3k 0.0 0.0 0.0 0.0
126=340Y»AC A=A -"=TR4
12&82020A0a00U°8 ©1 2482UgU°8k 94,602.6 94,602.6 0.0 0.0
0cep” 8200
={1 ATao0
b3fiaYST=T3Y ISEéxii 0.0 0.0 0.0 0.0
{1 ATao0
- Wi -» TGl 1363a0AlasYY»i 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0
- T3AC 1363a0AlaY Y»i 0.0 0.0 0.0 0.0

20lae=T 01-01-03



STT

19 20 21 22
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0 0.0 0.0
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a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 94,602.6 94,602.6 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0
- U»Ail3[3064064=3T3Y 13Eé»h 0.0 0.0 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 94,602.6 94,602.6 0.0 0.0
AYA36CT Yana-ail = a3Na3YaoU (1363[asAlasyY»n 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»h ™ N3 - 406 0.0 0.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYAZ(CY 8YY1C YIasA»h 0.0 0.0 0.0 0.0
- D37 ail YA 3T3CY 3 YiaiA»i 0.0 0.0 0.0 0.0
>‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe31%-3ICY T3HUST»NAAAIEGYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OQI 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéoé 0.0 0.0 8,660.4 8,660.4
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31 Afadu
DEQPZiZU PExAOUCS 0.0 0.0 0.0 0.0
31 Afadu
Dc"qﬂoa 1 bEUaAUauUCS 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»AC " RCYAGAIAGYY» G O»éupx»fiaiu 0.0 0.0 0.0 0.0
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AU b~2®chA 12Eé°3 749,097.9 313,874.6 313,874.6| 113,616.0 113,616.0 321,607.3 321,607.3
31 Atadu
AUA20LT 12Eé°8 749,097.9 313,874.6 313,874.6| 113,616.0 113,616.0 321,607.3 321,607.3
31 Arasl
ZPEZ'I‘?UZE 12802Tda0Alasu 383,554.5 269,938.5 269,938.5( 113,616.0 113,616.0 0.0 0.0
31 Atadu
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 383,554.5 269,938.5 269,938.5( 113,616.0 113,616.0 0.0 0.0
31 Arasl
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 367,363.3 253,747.3 253,747.3| 113,616.0 113,616.0 0.0 0.0
- =0=0=0C313Y, IS TSI - Br =13V 3 16,191.2 16,191.2 16,191.2 0.0 0.0 0.0 0.0
126210V»AC A3 - =T
jZéZUéﬁAUéﬁUUc’é/E °1 23620gU°sE 43,352.3 43,352.3 43,352.3 0.0 0.0 0.0 0.0
0°ég™ 2oadv
31 Arasl
P3faiYST3T3Y ISEé»h 15,448.6 15,448.6 15,448.6 0.0 0.0 0.0 0.0
31 Arasl
- %Y»A-» 0 Cl 13é3(a6AIadYY»h 8,941.3 8,941.3 8,941.3 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é3acAlasy Yr»h 132.3 132.3 132.3 0.0 0.0 0.0 0.0
“T=3AC 12631a0Ka0Y V»hi 6,175.0 6,175.0 6,175.0 0.0 0.0 0.0 0.0
-2330a1=- =137 1SEe»n 200.0 200.0 200.0 0.0 0.0 0.0 0.0
ManTa0a0UY»1C ~ BACS - SIABARIYY»NC 12 Eé»h 1,976.4 1,976.4 1,976.4 0.0 0.0 0.0 0.0
a3U=Y=-A3CY SE 1=631a0AIa0Y Y »AC O»eUp»iady 12,659.0 12,659.0 12,659.0 0.0 0.0 0.0 0.0
31 Arasl
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1 2 6 7
T DSUS13n- 23T 1563Ia0Aa3YY o 3,050.0 3,050.0 3,050.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(a0Ala0YY»h 8,020.0 8,020.0 8,020.0 0.0 0.0 0.0 0.0
TA>763031CY ~ NSYASICY 8YVAC 1363 a0Aa0YY»h 100.0 1000 100.0 0.0 0.0 0.0 0.0
- U»AT3(20406521T3Y 13Eé»i 500.0 500.0 500.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAOAC SE 1363 R0N&Y YR 989.0 989.0 989.0 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CH31I3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 222.0 222.0 222.0 0.0 0.0 0.0 0.0
31 Atadu
TO3aY3 -G 3137 1263100 Voh 222.0 222.0 222.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=N&=Yall (1=26=R0AR6V Y - 4,250.0 4,250.0 4,250.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 1,550.0 1,550.0 1,550.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 63U 1ARAUV»AC AYASGOCT Yana-ail 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 8,796.3 8,796.3 8,796.3 0.0 0.0 0.0 0.0
31 Atadu
T qIR2EVIET2ICY VidbAn ~ N2 -&06 1 29116 2.911.6 29116 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashnn 4,996.0 4,996.0 4,996.0 0.0 0.0 0.0 0.0
TAV63031CY - NSYRSICY 8YYAG VIAbA 888.7 888.7 888.7 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1ues @i I°eUé2Aab21u°s 321,607.3 0.0 0.0 0.0 0.0 321,607.3 321,607.3
31 Atadu
BA6CESTY 0-VAAPY 1i=U=TY 3w =N=Tr aA=0n 321,607.3 0.0 0.0 0.0 0.0 321,607.3 321,607.3
Ya3euY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 321,607.3 0.0 0.0 0.0 0.0 321,607.3 321,607.3
2UE 12E6°8 563.8 583.8 563.8 0.0 0.0 0.0 0.0
31 Atadu
P3AlI»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ‘ 263.8 263.8 263.8 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 320.0 320.0 320.0 0.0 0.0 0.0 0.0
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AU _2@°UA 12Eé°3s 2,722,360.2 1,138,895.6 1,138,895.6| 749,564.9 749,564.9| 98,660.0 98,660.0| 152,957.7 152,957.7
31 Arasl
AUAZ20LT I12Eé°d 2,722,360.2 1,138,895.6 1,138,895.6| 749,564.9 749,564.9| 98,660.0 98,660.0| 152,957.7 152,957.7
31 Arasl
2pE2T2Ugk 12802Tda0AlacU 1,699,038.5| 1,035,549.9 1,035,549.9| 663,488.6 663,488.6 0.0 0.0 0.0 0.0
31 Arasl
_ABUAT Tx3A140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 1,699,038.5| 1,035,549.9 1,035,549.9| 663,488.6 663,488.6 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 1,614,148.0 950,659.4 950,659.4| 663,488.6 663,488.6 0.0 0.0 0.0 0.0
- z30?»g?ég3'l'3\'(, 13'|'3'I'?Y EES S R 84,890.5 84,890.5 84,890.5 0.0 0.0 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &3 - "3 nasu
12&20a0AlasuUUCBE @1 24a82UgU°BE 180,617.0 102,372.7 102,372.7| 78,244.3 78,244.3 0.0 0.0 0.0 0.0
O?ép' eEN
31 Atadu
P3faiYST3T3Y ISEé»h 67,350.2 57,143.0 57,143.0] 10,207.2 10,207.2 0.0 0.0 0.0 0.0
31 Arasl
- YY»f-» W CT 13é3(a0AlasYY»hi 35,104.3 28,429.1 28,429.1 6,675.2 6,675.2 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é63acAlasy Yr»h 535.0 425.0 425.0 110.0 110.0 0.0 0.0 0.0 0.0
- T34C 13é3acAlasYY»h 24,283.9 20,998.9 20,998.9 3,285.0 3,285.0 0.0 0.0 0.0 0.0
- 233Na13-A313Y IBEé»i 590.0 453.0 453.0 137.0 137.0 0.0 0.0 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T30S T3ta0AlasY 6,837.0 6,837.0 6,837.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 18,811.3 8,898.8 8,898.8 9,912.5 9,912.5 0.0 0.0 0.0 0.0
a3U3Y=3-A3(CY 3F 1=363(4a0Ala0YY»AC O»élu»iiasy 29,894.8 4,011.6 4,011.6( 25,883.2 25,883.2 0.0 0.0 0.0 0.0
31 Arasl




61T

20la6e=T 01-03-02

1 2 3 4 5 6 7 8 9
T DSUS13n- 23T 1563Ia0Aa3YY o 1614.0 1,614.0 1614.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340AlA6YY»A 26,901.8 1,018.6 1,018.6| 25,883.2 25,883.2 0.0 0.0 0.0 0.0
- U»AI320640608313Y 12Eé»f 640.0 640.0 640.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAOAC SE 1363 R0N&Y YR 739.0 739.0 739.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0Aa0VI»TC 0»6Up»iiall 25,987.2 207.2 207.2| 25,780.0 25,780.0 0.0 0.0 0.0 0.0
31 Atadu
- @36Y3-Co313Y 13é63adAlasyYr»i 25,987.2 207.2 207.2| 25,780.0 25,780.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=Na=Yai0 (126=A0Ra Vo 5.113.9 4,092.8 40928 1,02L1 1,021.1 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 980.0 980.0 980.0 0.0 0.0 0.0 0.0 0.0 0.0
DIV 3YHRC - 63003 1ARAIUY»AC AYASOCT Yana-ail 4,133.9 31128 31128 10211 1,021.1 0.0 0.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 33,459.6 28,019.3 28,019.3 5,440.3 5,440.3 0.0 0.0 0.0 0.0
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 14,358.6 11,518.3 11,518.3 2,840.3 2,840.3 0.0 0.0 0.0 0.0
- TABYEAARW3ICY YlaiA»h 18,351.2 15,751.2 15,751.2 2,600.0 2,600.0 0.0 0.0 0.0 0.0
TA>V63031CY ~ NSYRSICY 8YYAG VIAbA 5748 574.8 5748 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3CY SE ViaoAoh 1750 1750 1750 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 833,899.7 0.0 0.0 0.0 0.0 98,660.0 98,660.0( 152,957.7 152,957.7
31 Atadu
AVASGCT 1=U=RYANNT >t 8o 1 =T=Y N0 131G SE 833,899.7 0.0 0.0 0.0 0.0[ 98,660.0 98,660.0| 152,957.7 152,957.7
U:""I:?'ﬁl::" 1Y»ACY
31 Atadu
- 2[f AYA36CT 1A3U3RYARNY»A 833,899.7 0.0 0.0 0.0 0.0 98,660.0 98,660.0( 152,957.7 152,957.7
8a0k=t=120 Ua=e10°8 ©1 1°U6=Aap=10°8 7,776.0 0.0 00 77760 7,776.0 0.0 0.0 0.0 0.0
31 Atadu
846CE>1=Y 0-VAA=Y 1n=U= 127 S =R=ln aA=Up 7.776.0 0.0 00| 7,776.0 7.776.0 0.0 0.0 0.0 0.0
Ya3ewY»h (laoc»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 7,776.0 0.0 0.0 7,776.0 7,776.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 1,029.0 973.0 973.0 56.0 56.0 0.0 0.0 0.0 0.0
31 Atadu
D3AI»A, &3AW31CA Tx3AY»A " waild»i, afnava 1,029.0 973.0 973.0 56.0 56.0 0.0 0.0 0.0 0.0

26371302 T3P USTSAISTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p




0ctT

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 03
EUUC 02 136C TA=-AvAC - T4 26 WS 121 (30 T=26a00V»AC T»AT=YaUY Aer

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

S ATa0l ASH 17= - fofiG

Pb B3»T3T3Y

USAUCYY»ACY ECO»YHCAY
13- A3ICY —3A»AY»AaT
=a3Narail

22 Afal AeT
T=T2/30Y»fC

=1 ATadu

DA T=1C =Y I=V40UA -

= -

5 i

3 \—

<L 2 3

8

10 11
AU b~2®?UA 12Eé°5 582,282.0 582,282.0
31 Afadu
A‘L"JA:Z(‘)/E 1 12EEé°0 582,282.0 582,282.0
31 Afadu
2PI§?T§UZ/E 12802T18a0AUasU 0.0 0.0
31 Afadu
. ﬁ3~Uél' X3 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 0.0 0.0
- Z3C~)f3t:1f3é(23-l-3Y, 1IYI3Y 7 AT 3I3Y 3 0.0 0.0
136=3[a0Y»AC &= -3 hail
jZéZUéﬁAUéf)UUOé/E °i1 25020gU°sE 0.0 0.0
0°eg” 26a00
31 Afadu
D?ﬁ?ﬁY?-l-'\”-l-?’Y I3Eé»i 0.0 0.0
31 Afadu
- WY»h -»WCT 13é3aiAla5YY»i 0.0 0.0
- TaU&sY3E 1363a0AlaiY Y» i 0.0 0.0
- T3AC 13é3(a0AlasYY»i 0.0 0.0
- 2a3Nai 3-A=13Y I3Eé»n 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T30S T3ta0AlasY 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3lU=3Y=2- =30y 3k 1363a0AlagYY»AC O»étu»fiadl 0.0 0.0

20la6e=T 01-03-02



1T

10 11
- D3U3T31-53CY 1363[a0AIA6YY»1i 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0
- U»AI320640608313Y 12Eé»f 0.0 0.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0Aa0VI»TC 0»6Up»iiall 0.0 0.0
31 Atadu
TO3aY3 -G 3137 12631a0Na0YVoh 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3vaol (13¢31a0AlasyYV»h 0.0 0.0
YiaoA»h)
31 Atadu
TBoYienC - T3Ea0V»NC AVASOCT Yana- a0~ aSNa3Yal 0.0 0.0
OV 3YoRC 63U TanalUY-AC AYASGCT Yana- &l 0.0 0.0
asNa=vail
Oléehoft (2&F=YuY»i) 0.0 0.0
31 Atadu
T qIR2EVIET3ICY VidbAn ~ N2 -&06 1 0.0 0.0
TTNSYeRan 1T 3LY Viabhon 00 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 0.0 0.0
TP & YAS T ST3CY SE ViaoAoh 0.0 0.0
. 62~®2DU asbues 582,282.0 582,282.0
31 Atadu
AVASGCT 1=U=RYANNT >t 8o 1 =T=Y N0 131G SE 582,282.0 582,282.0
U:""I:?'ﬁl::" 1Y»ACY
31 Atadu
“2EAVASOCT TnSUSRYARNY > 582,282.0 582,282.0
8a0EZE2120 Ua=e1Uo8 o1 ToUE=Aap=10%3 0.0 0.0
31 Atadu
S46C3E3T3Y 0-YAARY 1RS3UST3Y SAT3N3wraA=up 0.0 0.0
Ya3ewY»h (laoc»Co)
31 Atadu
T2EVASE T Yon HaicnCo 0.0 0.0
2UE 12Eé°5 0.0 0.0
31 Atadu
D3AI»A, &3AW31CA Tx3AY»A " waild»i, afnava 0.0 0.0

26371302 T3P USTSAISTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y ase»C US6CY 0D
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 03
EUC 03 126G Th=-fvAC - TaT N2 W= =1 K= T=6a00Y»7C T»iAT=YaUY A6w

TSE6»AC WY I »E83-Cr3T3Y 1363137-U3Y (a1 T 2 TY»AC

D? M»EI3IN1
200466=3T N 01-03-03

20lae=T 01-03-03

S ATl AS T 1A= -fiofiG

Taf1=1Ch CRE=YAsAI=Y, PP »03A0AYCUC UShvg
AT3I3Y I3é63 13003 2RI T3R»Y N3U3NOC W 3I3Y 3¢3ToaiAlasY Y A mT A AR K AR
R=vizarr=T=y - O T=731C sYVaIUYiC SesTousy | ST e ;‘:;Ai“ag
TESASIUBCY T3é3T3AU3Y SRESTST3U0C T»YrRay! aa=T-cy '
USAUCYY»AC &3Na=3vail a=Na=vail
AY1=20»YA Lo . R cm F e (1 R oe A A smoe i1 K £ AR Asmer
135 St ATalu Aén SR ATaU AeE St ATalU Aén St ATalU Ae
PALT=1C 3V T=VaiUA . 8H0=RA - 1= =Ra0Y»fC - 1= =/a0Y»AC - I=1=3/a0Y»fC - =1 =/a0Y»fiC
(N3%=3d < Repe-oy < < > = >
1ASUYRAT 0 o 0 D> 0 n. 0 n.
ASUY»Aar) ks 31% " %3:% ;% < § l(?: < i< % = Z %
< 8= < < Z0 < & 1 < S
> LSRN <L &% > S > ) ) > ) U]
é ] oG ) 3 D A < A H A H
p; - N Nel ic P} m A D \m= - D \mm -
0 n s hE ] 0 & 0 0 m 0 0
A w0, 2= 2 A R & Rl b Rl M
< DZz3"- N < o < - < -t
28 2 2 8
1 2 3 4 5 6 7 8 9 10
AU _2@°UA 12Eé&°d 1,184,558.8| 635,401.7( 624,417.6( 10,984.1| 4,926.9 4,926.9( 156,725.2 156,725.2| 387,505.0 387,505.0
=1 AtasU
AUA20LT 12E€°8 1,184,558.8| 635,401.7( 624,417.6( 10,984.1| 4,926.9 4,926.9( 156,725.2 156,725.2| 387,505.0 387,505.0
=1 ATaiU
2pE2T2Ugk 12802Tda0AlacU 399,409.9( 395,146.8( 384,392.7| 10,754.1| 4,263.1 4,263.1 0.0 0.0 0.0 0.0
=1 ATasU
_ABUAT Tx3A140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 399,409.9| 395,146.8| 384,392.7| 10,754.1| 4,263.1 4,263.1 0.0 0.0 0.0 0.0
=1 ATaiU
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 370,398.7| 366,135.6 355,381.5| 10,754.1| 4,263.1 4,263.1 0.0 0.0 0.0 0.0
- 6203026031, 122137 &> n=13Y 3F 29,0112 29,0112 29,011.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13é3(a0Y»iC &30 - "3Triail
12&20a0AladUUCBE 1 2482UgU°dE 236,003.1| 235,611.3| 235,381.3 230.0 391.8 391.8 0.0 0.0 0.0 0.0
0°ep” 5200
3 ATaiu
P3fAYSTI3T3Y ISEé»fi 210,656.2( 210,322.8| 210,322.8 0.0 3334 3334 0.0 0.0 0.0 0.0
=1 ATaiU
- YY»f-» W CT 13é3(a0AlasYY»hi 10,111.9 9,899.5 9,899.5 0.0 212.4 212.4 0.0 0.0 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 194.7 188.9 188.9 0.0 5.8 5.8 0.0 0.0 0.0 0.0
- T3AC 13é3(a0AlasYY»i 7,560.2 7,445.0 7,445.0 0.0 115.2 115.2 0.0 0.0 0.0 0.0
- 2a3Nai 3-A=13Y I3Eé»n 160.0 160.0 160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- qJABILC T E=AU=TanA0UY»AC 1=R0= 1 StasAlady 192,629.4| 192,629.4| 192,629.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SIA0ARBYY»AC 1SEéxh 4,692.4] 4,634.0 4,634.0 0.0 58.4 58.4 0.0 0.0 0.0 0.0
a=U=Y=-A=1CY =k 1=6=1a0Alasy Y»>hC O»elp»hadl 12,180.0| 12,180.0 12,130.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
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20la56=T 01-03-03

1 2 3 4 5 7 8 9 10
- D3U3T31-53CY 1363[a0AIA6YY»1i 600.0 600.0 600.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 480.0 480.0 480.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 600.0 600.0 600.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064064=313Y 13Eé»h 350.0 350.0 300.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 10,150.0( 10,150.0 10,150.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 U=ey= -CW3T3Y 1363(a0Ala0YY»AC O»étp»iasl 2,218.0 2,218.0 2,218.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 2,218.0 2,218.0 2,218.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 1,500.0 1,500.0 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 1,500.0 1,500.0 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 4,756.5 4,756.5 4,576.5 180.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 780.5 780.5 600.5 180.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 3,756.0 3,756.0 3,756.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 220.0 220.0 220.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek £E20°8 544,230.2 0.0 0.0 0.0 0.0 0.0| 156,725.2 156,725.2 387,505.0 387,505.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 544,230.2 0.0 0.0 0.0 0.0 0.0| 156,725.2 156,725.2| 387,505.0 387,505.0
31 Afadu
- @aipeCIC3Y» aa YCYSYEST3Y a»n313Y 544,230.2 0.0 0.0 0.0 0.0 0.0| 156,725.2 156,725.2| 387,505.0 387,505.0
13%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéoé 4,915.6 4,643.6 4,643.6 0.0 272.0 272.0 0.0 0.0 0.0 0.0
31 Afadu
P3l»f, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 4,643.6 4,643.6 4,643.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY T=p»i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2[F IZEé»i 272.0 0.0 0.0 0.0 272.0 272.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2E»AC - 4f1=26Y=T3Y 1363T37-U3Y 01 p=AYC 04
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

P3i»ET3IN1

200as6=3T N 01-04-01

20lae=T 01-04-01

S ATa0U ASH 175 fofiC

MCTSREZTA0V»ACY
-CU=T3Y SEWCX3VY»iC
N=0=f wiTad

-anTasy»asAl=y NCUY=i=i -
T=ian= - aily YR=3Y=3TaoAlasy

L e S A
CUEHEVCTST3Y

MCU2T3Y ~ -CUr3T»EVCISTSY - 4AT45V»a0A1=Y
»YAST=6406 T2 TOY»AC &=N&=Va0U 46 %=1 - 264U

NS T»ESTx3AY»H 45Y»640 TCA3é631T3Y
NV Ny 3%awacAlasYY»h
AVIZU»YA
134(
PALTIC 3YT3Y45UA . &U=RA 3 ArasU Aer 3 ATaiU Aew 3 ATaoU Aer
(R=v%=n \— T30 3na0Y»AC \— T30 3na0Y»ic \— T3 7 3na0Y»iic
1A30Y»har) 2 " 2 2 . "
0 . e 0 = 0 JURP o : P= =
- > > 3% > 5’” = (L:}I;% = 1% (7)\‘ 0')_ ;;% > ;;% > > 3% > 8‘
< onghs < 33 < 2 S5 |Lag g
A L i A ® < A nm S S | i ci
DS TRMN I ) DS T Ul DS \= ;‘E ul {é‘:’ 20 cT& N & )
m <L [ e " m 0 e 0’) 0’) m [ e = 'm e <L [ e '
d LS50S d 0 g oy =1 =5l [ S0l o
(z ' o I ' (z 8 Eif| (z l(f) = ~:] k| ' o I '
8 0 =2 0 =1 20 |8 0|8 0 3
~>_ 06 ~>_ 8 ~>_ ~>_ ~>_ 06
1 2 3 4 5 6 7 8 9 10
AU _2@°UA 12Eé°3s 10,854,437.2| 941,700.0 941,700.0 14,400.0 14,400.0| 7,979,112.8| 107,355.9| 50,000.0( 56,803.1 7,764,953.8
31 Arasl
AUAZ20LT 12Eé°5 10,854,437.2| 941,700.0 941,700.0 14,400.0 14,400.0| 7,979,112.8| 107,355.9| 50,000.0( 56,803.1 7,764,953.8
31 Arasl
eao” ek _k=20°s 107,355.9 0.0 0.0 0.0 0.0 107,355.9| 107,355.9 0.0 0.0 0.0
31 Arasl
@40pECIC3Y»i A» 3 I3Y I3WST»AAaiAlasYY»ACY 107,355.9 0.0 0.0 0.0 0.0 107,355.9| 107,355.9 0.0 0.0 0.0
31 Arasl
- BANECICS oM & YOI SVE=T=Y Br =157 107,355.9 0.0 0.0 0.0 0.0[ 107,355.9| 107,355.9 0.0 0.0 0.0
T3WU3T»AAa0Ala6YY»AcY
. 02@2pUaspU°s 10,563,481.3( 941,700.0 941,700.0 14,400.0 14,400.0| 7,688,156.9 0.0 50,000.0| 56,803.1 7,581,353.8
31 Arasl
_APUSRYANNT»A UGC%- 30T To/0= T BA0ABITY»NGY 579,2465 0.0 0.0 0.0 00| 5792465 0.0 0.0 00| 5792465
=1 Afadu
~AVAZ6CT LTA2USRYARNY »h UCG3%- 20T 579,2465 0.0 0.0 0.0 00| 5792465 0.0 0.0 00| 5792465
T3W3T»AA4aAlAsYY»ACY
AYA36Q-|- 1ﬁ3U?BYéﬁN“{»ﬁ AT 3I3SYN3TI3IC 3 9,984,234.8| 941,700.0 941,700.0 14,400.0 14,400.0( 7,108,910.4 0.0 50,000.0| 56,803.1 7,002,107.3
UST3R13TY»ACY
31 Arasl
T AVASGCT Ti=U=RYARNY »h B0 W =T~ N2USNUPIGY a8 6,177,061.8| 565,000.0 565,000.0  7,200.0 7,200.0| 4,738,458.7 0.0 0.0 0.0[ 4,738,458.7
3¢ TABICY T3WST»AAa0AlAsY Y»ACY
T AVASOCT ITA3USRYARNY»N Br T 3T3Y -~ RBUSNGSICY 211,303.2| 30,5000 30,500.0 0.0 00| 180,803.2 0.0] 50,000.0 00|  130,803.2
3¢ TASICY 133 T»RA40AI6Y Y»ACY
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1 2 3 4 6 7 8 9 10

- 2[f AYA36CT 1A3U3RYARNY»A 3,595,869.8| 346,200.0 346,200.0 7,200.0 7,200.0| 2,189,648.5 0.0 0.0] 56,803.1 2,132,845.4
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 183,600.0 0.0 0.0 0.0 0.0 183,600.0 0.0 0.0 00  183600.0
31 Atadu

éééQ3E3-l-3Y 0-YalAIBY 1A3UST3Y 3 3N3naiAlSup 183,600.0 0.0 0.0 0.0 0.0 183,600.0 0.0 0.0 0.0 183,600.0
Ya3&uY»h (lase»Co)

31 Atadu

- 2F Ya3e 7 Y»h pladc»Co 183,600.0 0.0 0.0 0.0 0.0 183,600.0 0.0 0.0 0.0 183,600.0
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31 Arasl
AUAZ20LT I12Eé°d 8,558,356.8( 992,785.4| 711,256.0( 281,529.4| 1,384,800.1| 1,254,745.3| 130,054.8| 521,560.8| 262,642.8 235,918.0| 23,000.0
31 Arasl
2pE2T2Ugk 12802Tda0AlacU 4,047,987.3( 823,360.7| 593,054.3( 230,306.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_ASUAT 1x3A140 SRES TS T3A0»0 NS T»ES Tx3AY»0 4,047,987.3( 823,360.7| 593,054.3( 230,306.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 3,106,414.0( 648,796.4| 431,654.5( 217,141.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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jZéZUéﬁAUéﬁUUoé/E °1 23620gU°sE 1,327,466.7| 119,902.3 69,872.8| 50,029.5 130,054.8 0.0 130,054.8| 521,560.8| 262,642.8| 235,918.0| 23,000.0
O°Peg” @oadd
31 Arasl
D?’ﬁ?ﬁY?'l"»’;l'?’Y 13Eé»ii 426,892.2| 57,972.7 21,658.2| 36,3145 119,068.0 0.0 119,068.0 0.0 0.0 0.0 0.0
31 Atadu
- YY»f-» W CT 13é3(a0AlasYY»hi 158,411.2| 31,241.2 13,600.0] 17,641.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é63acAlasy Yr»h 2,424.8 545.0 250.0 295.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T=2AC 136=3(a0AlaiYY»h 165,563.7| 25,495.7 7,308.2( 18,187.5 119,068.0 0.0 119,068.0 0.0 0.0 0.0 0.0
- 283Nai=3-A313Y I2Eé»i 2,690.8 690.8 500.0 190.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lae=T 01-06-01

1 2 3 4 5 7 8 9 10 11
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 62,311.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 35,490.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 38,723.3| 16,723.3 11,929.6 4,793.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 579,980.4 7,919.6 5,824.0 2,095.6 0.0 0.0 0.0| 521,560.8| 262,642.8| 235,918.0| 23,000.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3U3T31-53CY 1363[a0AIa6YY»1 3,079.6 3,079.6 1,700.0 1,379.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 17,916.0 2,916.0 2,700.0 216.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 521,560.8 0.0 0.0 0.0 0.0 0.0 0.0| 521,560.8| 262,642.8| 235,918.0| 23,000.0
- U»fil3[3064004=313Y 13Eé»h 6,000.0 1,000.0 500.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 30,924.0 924.0 924.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 90,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 90,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 62,556.0 4,556.0 3,900.0 656.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 30,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 32,556.0 4,556.0 3,900.0 656.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 129,314.8( 32,730.7 26,561.0 6,169.7 10,986.8 0.0 10,986.8 0.0 0.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 53,083.9| 12,097.1 10,623.2 1,473.9 10,986.8 0.0 10,986.8 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 66,871.7| 16,274.4 11,874.4 4,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAnii 9,359.2 4,359.2 4,063.4 295.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 819,218.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 819,218.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 819,218.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 73,260.4 3,000.0 2,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=3CY T3S T»NAasAEsYY»ACY 3,000.0 3,000.0 2,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OC| 1A3U3RYAANY » A UCe3Y- 3(CY 3,000.0 3,000.0 2,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 70,260.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OQ| ?—ﬁ3Uf3BYéﬁNY»ﬁ A»T3I3Y " N3U3IYO=3(CY 4 70,260.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIY Y»ACY
€a0L2E2T2U Ua2éTU®s 21 IT°U&2Aab21U%s 45,888.9| 45,888.9 45,888.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu
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1 2 3 4 5 6 8 9 10 11
Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 458889| 458839 458839 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
- 2 YAZE T Y»A pidic»Co 45,888.9( 45,888.9 45,888.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E 12E6°8 2,244,534.9 6335 440.0 1035| 1,254,745.3| 1,254,745.3 0.0 0.0 0.0 0.0 0.0
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 6,633.5 633.5 440.0 193.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 2,232,901.4 0.0 0.0 0.0] 1,254,745.3| 1,254,745.3 0.0 0.0 0.0 0.0 0.0
A3Na06 1T 3ICY UGGAdY»h 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 2,778,665.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 2,778,665.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 958,006.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 958,006.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o7 é23g2T1adaigued 1,352,389.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- THBYEAAR W 3ICY 63A03 TanaiUY»h 25,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1383 13Y 83A0=314Ra0UY»A 42,556.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A ~ 63A0=TaRa0UY»A 1,284,833.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE DEQU=120 ok2adUos 468,269.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIRAST3Y NCUYST3Y UCcany»h 15,0000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- »aLYC3T3Y USAT»%3-AZT3Y IBEé»i 451,269.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3-I3N»T3%AT313Y I3Eé»i 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AUA20LT 12E€°8 33,031.9 33,031.9| 63,082.4 63,082.4 37,228.5 37,228.5| 819,218.6 819,218.6
=1 ATadu
2pE2T2Ugk 12802Tda0AlacU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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Tx3AY»h
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- TAUAYS3E 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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12 13 14 15 16 17 18 19
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3U3T31-53CY 1363[a0AIa6YY»1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAnii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0| 819,218.6 819,218.6
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0| 819,218.6 819,218.6
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 819,218.6 819,218.6
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 33,031.9 33,031.9 0.0 0.0 37,2285 37,228.5 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=3CY T3S T»NAasAEsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQ| 1A3U3RYAANY » A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 33,031.9 33,031.9 0.0 0.0| 37,2285 37,2285 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ A»T3I3Y " N3U3IYO=3(CY 4 33,031.9 33,031.9 0.0 0.0| 37,2285 37,2285 0.0 0.0
3¢ T A3ICY 133 T»RA40AIY Y»ACY
€a0L2E2T2U Ua2éTU®s 21 IT°U&2Aab21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-06-01
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Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 63,082.4 63,082.4 0.0 0.0 0.0 0.0
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 63,082.4 63,082.4 0.0 0.0 0.0 0.0
A3Na06 1T 3ICY UGGAdY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a000°8 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
31 Atadu
TANSYeAAN T 3T 63AUS Tanaiuy»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1383 13Y 83A0=314Ra0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A ~ 63A0=TaRa0UY»A 0.0 0.0 324,589.4 324,589.4 0.0 0.0 0.0 0.0
2UE DEQU=120 ok2adUos 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
24 VIRAST3Y NCUYST3Y UCcany»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A ACIT3Y UBAT %3 - 1313 1SEen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- UBE3-I3N»T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- 43- 37w RalY»A, 1ASUST3Y EASE&aieaUY»A " N3 W ail 611,473.4 611,473.4 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»h
- 2303036C313Y, 137 313Y " W 3I3Y 3¢ 155,535.6 155,535.6 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &= -3 hail
12&20asAlasuUCBE @1 2482UgU°BE 555,948.8 555,948.8 0.0 0.0 0.0 0.0 0.0 0.0
0cep” 232060
31 Arasl
P3faiYST3T3Y ISEé»h 249,851.5 249,851.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
IR HCT 1563 Ta0Na o 127,170.0 127,170.0 00 0.0 0.0 0.0 0.0 0.0
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- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 62,311.7 62,311.7 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 35,490.0 35,490.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 22,000.0 22,000.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 50,500.0 50,500.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 500.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3U3T31-53CY 1363[a0AIa6YY»1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 15,000.0 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 5,000.0 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 30,000.0 30,000.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 90,000.0 90,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 90,000.0 90,000.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 58,000.0 58,000.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 30,000.0 30,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 28,000.0 28,000.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 85,597.3 85,597.3 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»n ™ N3 - 06 30,000.0 30,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 50,597.3 50,597.3 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAnii 5,000.0 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=3CY T3S T»NAasAEsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQ| 1A3U3RYAANY » A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ A»T3I3Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIY Y»ACY
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Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 11,000.0 11,000.0| 112,896.4 112,896.4 0.0 0.0 0.0 0.0
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 6,000.0 6,000.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0] 112,896.4 112,896.4 0.0 0.0 0.0 0.0
A3Na06 1T 3ICY UGGAdY»h 5,000.0 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 0.0 0.0 0.0 0.0 22,556.5 22,556.5 513,269.6 513,269.6
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0 0.0 0.0 22,556.5 22,556.5 513,269.6 513,269.6
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a000°8 0.0 0.0 0.0 0.0 22,556.5 22,556.5 45,000.0 45,000.0
31 Atadu
- THBYEAAR W 3ICY 63A03 TanaiUY»h 0.0 0.0 0.0 0.0 10,000.0 10,000.0 15,000.0 15,000.0
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EUNC 02 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37-03Y N4 T2 1V»A¢

P3i»ET3IN1

200a56=3T N 03-01-02

S ATa0l ASH T7= - fofiC

SO B3 s O
2.3y IYTT3Y-HABY | YT Tr3Y- a3y Eanfiic
=33fa7al IPESTST3UIC
a=fla=val
AY13U»YA = Aja00 ASW =3 Afasl Aer
S 136C - T3 3a0Y»AC - T3 3a0Y»AC
Pa1T=0C 3YT=3YailA - a0U=fA T = T
(== : S ' -
TENAL)) L Qwh L L0R
- Sliz g - ST OB
< 8 = g < "G -
> ple) ‘F g > (f) ‘F = m
2 moo8 3 L=
\m 2 ] = = -
U] [V RN Ul VIS
g PSCy g g Uy
< 0 T = < - W
8 00 vl
1 2 3 4 5
AU _2@°0A 12E6°8 20,527,634.9] 20,049,396.1 20,049,396.1 478,238.8 478,238.8
31 Atadu
AUAZ0LT 12E6°8 20,332,059.9[ 19,853,821.1 19,853,821.1| 478,238.8 478,238.8
31 Afagu
2pE=2T20pk 12802T820A0a00 16,652,524.0| 16,310,425.7 16,310,425.7| 342,098.3 342,098.3
31 Atadu
_A3l0at 1x311a0 SRE3T3T300»0 ~ NS 163 1x3AY»A 16,652,524.0| 16,310,425.7 16,310,425.7| 342,098.3 342,098.3
31 Afagu
- 2RE3TA0V»AC SRESTST3A0»A ~ N3 13 Tx3AV»A 16,556,438.7| 16,240,105.7 16,240,105.7| 316,333.0 316,333.0
- a303036C313Y, 1IBT313Y ~ ar 1313Y 3 25,765.3 0.0 0.0[ 257653 25,765.3
126210V»AC A3 - =T
- 2 13031 nacAlasyY»i 70,320.0 70,320.0 70,320.0 0.0 0.0
1282020A0a000°8£ ©1 2a582000°8£ 3,092,206.1 2,956,321.5 2,956,321.5| 135,884.6 135,884.6
OPeg” @oadd
31 Afagu
P=AaV=T=T=Y 1=Eéxf 1,092,396.2| 1,054,572.7 1,054,572.7| 37,8235 37,8235
31 Atadu
- %Y»R-» TGl 1363[a0AlasYY»i 761,342.5 739,105.2 739,105.2 22,237.3 22,237.3
- TalasY3t 1=363asAlasy Vi 96,449.0 96,267.5 96,267.5 181.5 181.5
- T3AC 1363aAlasyY»i 212,204.7 197,200.0 197,200.0 15,004.7 15,004.7
- 2330a1=3-A=13Y 13Eé»i 22,400.0 22,000.0 22,000.0 400.0 400.0
anTas0alY»AC — Rc= - SasAlasYY»AC TSEe»n 448,330.8 400,000.0 400,000.0] 48,330.8 48,330.8
a303Y=3-A3CY 3k 1=363a0AlasY Y»AC O»eup»iasl 167,336.1 139,300.0 139,300.0] 28,036.1 28,036.1
31 Afagu

20la6e=T 03-01-02
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1 2 3 4 5
- PSS T3Y 1363(aiAlaiY Y»hi 1,064.7 0.0 0.0 1,064.7 1,064.7
TP3US13n-33KY 13631a0Aa3YY o 105,8580|  104,800.0 104,800.0]  1,058.0 1,058.0
- DO IBTT3T3Y 1363(a0Ala0YY»h 1,913.4 0.0 0.0 1,913.4 1,913.4
- U»AT3(20406521T3Y 13Eé»i 44,500.0 22,500.0 22,500.0] 22,000.0 22,000.0
T AVINSYaAdN pYAOAC SE 1363 R0N&Y YR 14,0000 12,0000 12,0000 _ 2,000.0 2,000.0
2U‘E U~3éY‘3 -CH31I3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 30,111.7 30,000.0 30,000.0 111.7 111.7
31 Atadu
TO3aY3 -G 3137 1263100 Voh 30,1117 30,000.0 30,000.0 1117 111.7
AVASGCT Vaia-ai0 ~ &=N&=Yall (1=26=R0AR6V Y - 37,5900 35,0000 35,0000  2,590.0 2,590.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 14,0000 14,000.0 14,000.0 0.0 0.0
DIV 3YoRC - 63U 1ARAUV»AC AYASGOCT Yana-ail 23,590.0 21,000.0 21,0000]  2,590.0 2,590.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,316,441.3| 1,297,448.8 1,297,448.8| 18,992.5 18,992.5
31 Atadu
- ASE»YIRT3(CY YiaiA»n " N=- 406 220,233.7 214,438.7 214,438.7 5,795.0 5,795.0
- A03TY T »E313Y SAA3YuY»h 34,307.5 34,307.5 34,307.5 0.0 0.0
- TH3YEAARW3(CY YlaiA»h 746,984.4 735,484.4 735,484.4( 11,500.0 11,500.0
- I»Y6303(CY " N3YA3ICY eYYZC YladA»i 275,539.2 274,341.7 274,341.7 1,197.5 1,197.5
TP &l YAS T ST3CY SE ViaoAoh 39,3765 38,876.5 38,8765 500.0 500.0
éaOfEZEZTZU Ua=2éTuos @i 1°eUé2Aab21U°s 33,357.6 33,357.6 33,357.6 0.0 0.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr &A= 00 33,3576 33,357.6 33,357.6 0.0 0.0
Ya3&uY»f (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 33,3576 33,357.6 33,3576 0.0 0.0
2UE 12E6°8 553972.2  553,716.3 553,716.3|  255.9 255.9
31 Atadu
P3AlI»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ‘ 8,255.9 8,000.0 8,000.0 255.9 255.9
I=63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=6T400
»Y UCUBY6 YI=T1U3Up
2[f ISEé»h 545,716.3 545,716.3 545,716.3 0.0 0.0
éh"?l lilﬁEUZUéZTZU 2ITEIUCBE T1ad 12Eé°8 195,575.0 195,575.0 195,575.0 0.0 0.0
31 Atadu
D&@QZ?ZU oFzaoUed 195,575.0 195,575.0 195,575.0 0.0 0.0
31 Atadu
Dc"[.{ﬂoa °i bEUadsAUaLUCS 71,000.0 71,000.0 71,000.0 0.0 0.0
31 Atadu
- b»YU»AC * RCYABAIAGYY»AC TS ACTH 3E T»A3Yana-ail 71,000.0 71,000.0 71,000.0 0.0 0.0
@?Z?U?Uoé o1 é28g21a0a000°8 117,075.0 117,075.0 117,075.0 0.0 0.0
31 Atadu
TANSYeAAN T 3T 63AUS Tanaly»n 80,000.0 80,000.0 80,000.0 0.0 0.0
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1 2 3
S 122 12Y 62n0= 1 anaiuy»h 29,075.0 29,075.0 29,075.0 0.0 0.0
—2EU»ir V3ol - 3RS T ARa0UY»A 8,000.0 8,000.0 8,000.0 0.0 0.0
20k pEGUZT20 OE=2ao0°8 7,500.0 7,500.0 7,500.0 0.0 0.0
= A7 400

- &a YIasA=T=Y NCUY=T=Y UCcadY»h 7,500.0 7,500.0 7,500.0 0.0 0.0

20la5e=T 03-01-02
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

Of»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 01

EUNG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

S ATa00 AST T7=-fiofiG

=13y a3Nasvashl=y
=a=3arai

=1 ATl Asr

AVIZU»YA - TS W3A40V»AC
o — 2
PA1T3IC 3YT3YaiUA -80U=1A 0 N
(N=w=h = =
1i=UY»Aar) >, = L
> N ©5
<L 8 0(?5 \o
1 2 3
AU 2@°UA 12E€°5 2,726,983.0| 2,726,983.0 2,726,983.0
31 Atadu
AUAZOAT 12E€°8 2,726,983.0| 2,726,983.0 2,726,983.0
31 Atadu
2pE=2T20pk 12802T820A0a00 2,116,164.3| 2,116,164.3 2,116,164.3
31 Atadu
L =04t 1x=i1a0 SRE3T=T=00x ~ (B 1= 1x3V»h 2,116,164.3| 2,116,164.3 2,116,164.3
31 Atadu
- 2RE3TA0V»AC SREST3T30»A ~ NS 13 Tx3AY»i 2,116,164.3| 2,116,164.3 2,116,164.3
1282020A0a000°8£ ©1 2a582000°8£ 491,533.8| 491,533.8 491,533.8
0°eg” ©5260
31 Atadu
P=AaV=T=T=Y 1=Eéxf 61,438.0 61,438.0 61,438.0
31 Atadu
- %> > Gl 12é63{aAlasyVri 37,359.7 37,359.7 37,359.7
- TaUaoY3E 1=é63anAlasy V»hi 3,792.8 3,792.8 3,792.8
- T34C 1363(aAlasyY»h 15,000.0 15,000.0 15,000.0
- 25330ar=3-A=13Y I3Eé»h 5,250.0 5,250.0 5,250.0
- FadloC  83A0S TaRaUY»AC T3R0S T3ta0Ala0Y 35.5 35.5 35.5
TanTa0aiUv»AC ~ BAcS - SlacAlasYY»AC TSEé»h 95,300.0 95,300.0 95,300.0
a=l0=y=-i=cY 3E 1=2630a0Ala0Y V»AC 0»ép»fiadl 12,700.0 12,700.0 12,700.0
31 Atadu
- DO ISTT313Y 1363aAlaVY »i 2,600.0 2,600.0 2,600.0
- T»>Y6303[CY " N3YASICY eYVaC 1=é63{anAlasyy»i 500.0 500.0 500.0
- U»iT=P64a066=T3Y 12Eé»i 3,600.0 3,600.0 3,600.0
- AY2=Vaon uvasAc =k 13é3lacAlasyY»h 6,000.0 6,000.0 6,000.0

D? M»EI3IN1
200466=3T N 03-01-03
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1 2 3
2EUS6Y= -G =T 15650Na0T V-G Ovel»naiy 1,450.0 1,450.0 1,450.0
31 Atadu
- @3EY3-Cu 313V 13¢3(a0Ala0YY»h 1,450.0 1,450.0 1,450.0
AYA~36C-I- Yania-ail - A3Na3YaiU (13é3lacAlasYY»i 78,000.0 78,000.0 78,000.0
YlaoA»fi)
31 Atadu
- P»YU»AC " T3éa0l0Y»AC AYAROCT Yana-ail ™ A3Na3Yail 5,000.0 5,000.0 5,000.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 73,0000| _ 73,000.0 73,000.0
asNa=vail
UlaAon (ZAR=Y0Y»h) 242,6458| 242,64538 242,6458
31 Atadu
T qIR2EVIET3ICY VidbAon ~ N2 -&06 1 71,7728| 7.,772.8 71,772.8
TANSYeAAN T 3T Yiashwn 1652081 1652081 165,208.1
TAV63031CY - NSYRSICY 8YYAG VIAbA 46775 46775 4,677.5
TDST&T YAS T ST3CY SE ViaoAnh 987.4 987.4 987.4
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 18,0849|  18,084.9 18,084.9
31 Atadu
846CE>1=Y 0-VAAPY 1n=0= 127 S n=R=ln aA=Uj 18,0849  18,084.9 18,084.9
Ya3ewY»h (laoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 18,0849|  18,084.9 18,084.9
2UE ~‘| ZEéoé 101,200.0 101,200.0 101,200.0
31 Atadu
D3RI»n, A=A S1CR Tx2RT»n T alkoR, AHaT0 ‘ 12000  1,200.0 1,200.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 100,000.0 100,000.0 100,000.0

20lae=T 03-01-03
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT piaicr T 3ICY TSEe»AC - 4R 1=6Y=T3Y 1363T3-U=3Y 03 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

P3i»ET3IN1

200as6=3T N 03-02-01

S ATa00 ASH TR fofiG

USEsrsnaii=Y
§1 7= finfiC

ofl=n=n 1=é=(aAl=Y

=1 ATadu

CAST=2Y=36U3Y N303T3,ﬁ ¢
A ZenVIETY A2 3Y é'l'éﬁ3ui3A3YéﬁpY>>ﬁC
AZEVIET] T=1=Y a={a=vail
RCUY=ATC &a=3la=3Vail
AY1=20»YA L s - "
1350 31 ATl A6 3t ATa0 Ae
PALT=IC 3YT=V45UA - 40U=RA N . 31 SAa0V»AC
(N=%=f e =
L s o> > o> >
1A3UY»iar) \S?_: ;)g_>_ . zgxg \S?_: ;g_>_ . ’gg
s | 2LF=% < LT
A 0 - ) = A 0 A [0} e
D IC(")(f)x(") D zc(")o‘)x(*')
(") O f e O
o b ul e A= (1) o b ul e \= ()
| cpfiuw s = F LW
8= ol 8= ol
1 2 3 4 5
AU)ZQOUA 12Eé°5 7,510,098.6| 66,406.9 66,406.9| 7,443,691.7 7,443,691.7
3 A4l
AUA20KT 12Eé°d 7,510,098.6| 66,406.9 66,406.9| 7,443,691.7 7,443,691.7
3 A4l
2pE2T2Ugk 12802Tda0AlascU 6,705,263.7| 62,626.1 62,626.1| 6,642,637.6 6,642,637.6
3 A4l
. A3UAT 1x3AT40 3RE3T3T3A0»A " NST»E3 1x3AY»f 6,705,263.7| 62,626.1 62,626.1| 6,642,637.6 6,642,637.6
3 A4l
- 2RE 'I'éOY»ﬁC SREST3T3A0»A ~ NST»E3B Tx3AY»A 6,688,925.7| 62,626.1 62,626.1| 6,626,299.6 6,626,299.6
- Z303U30C3-|-3Y, 1Y 3I3Y T AT 33Y 3 16,338.0 0.0 0.0 16,338.0 16,338.0
136=3[a0Y»AC &= -3 hail
12&20a0AlasuUCBE ©1 2462UgU°dA 621,630.4| 3,749.8 3,749.8 617,880.6 617,880.6
0°Peg” °dad
3 A4l
P3RAYST3T3Y IBEé»i 175,144.6 40.0 40.0 175,104.6 175,104.6
3 A4l
IR > U CT 13631a0Aa Y Vo 102,424 00 00| 102,042.4 102,242.4
- TAU&Y3E 13é63(a0AIaY Y»hi 19,039.4 0.0 0.0 19,0394 19,039.4
- T34C 13é3acAlasYY»h 33,326.8 0.0 0.0 33,326.8 33,326.8
- 283Nai3-A=13Y IBEé»i 12,160.0 40.0 40.0 12,120.0 12,120.0
TqAIC - ESRUS T ARGUYSRC T3R0S TStANAY 8.376.0 00 00 8,376.0 8,376.0
Tan1a00&0V>1C ~ BAC= - SIAABIYY»AC TSEé»n 44.7360|  840.0 840.0|  43,896.0 43,896.0
a3U373 - A3y S 13631a0Aa0VY»1iC O»etpmiady 7.3720] 5500 550.0 6,822.0 6,822.0
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1 2 4 5
T DSUS13n- 23T 1563Ia0Aa3YY o 18220 0.0 0.0 1,822.0 1,822.0
- DO ISTT3T3Y 136340AlA6YY»A 400.0 400.0 400.0 0.0 0.0
- U»AI320640608313Y 12Eé»f 5,150.0 150.0 150.0 5,000.0 5,000.0
2EUSEY= -0 =T 1363 R0Aa0VI»TC O»6Up»iiall 3,000.0 0.0 00[ 30000 3,000.0
31 Atadu
TP -G 3137 12631600 Voh 3,000.0 0.0 0.0 3,000.0 3,000.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 54.7130| 2000 2000| 54,5130 54,513.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 54.7130| 2000 200.0| 54,5130 54,513.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 336,664.8] 2,119.8 2,119.8 334,545.0 334,545.0
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 95,463.1 779.3 779.3 94,683.8 94,683.8
- A03TY T »E313Y SAA3YuY»h 2,038.5 0.0 0.0 2,038.5 2,038.5
TANSYeAAN T 3T Yiashnn 211,5389| 1,189.0 1,189.0] 210,349.9 210,349.9
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 8191 1515 1515 667.6 667.6
TDST&T YAS T ST3CY SE ViaoA h 26,805.2 0.0 00| 26,8052 26,805.2
8a0k=t=120 Ua=e1U°8 ©1 1°U6=Aap=10°8 157,589.5 0.0 00| 15755895 157,589.5
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 127 S =R=ln aA=Up 157,5895 0.0 00| 157,5895 157,589.5
Ya3ewY»h (léoc»Co)
31 Atadu
“THVESRAR=1C SV0V»E0 o i TSRT=T -~ T =nCu=IY 157,5895 0.0 00| 157,589.5 157,589.5
Y&3&W Y»fi piaic»Co
ZUE~ 1 ZEéoé 25,615.0 31.0 31.0 25,584.0 25,584.0
31 Atadu
D3AI»fA, A3AW31CA Tx3AY»A " waild»i, afava 25,615.0 31.0 31.0 25,584.0 25,584.0

T263T3A0=Y 13Apsh USTSASTY>AC Ta0UC6 10A=6T40U
»Y UCUIBY6 YIS 030

20lae=T 03-02-01
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T3/-U=Y 03 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

D? M»EI3IN1
20045631 N 03-03-01

20lae=T 03-03-01

Sh AT AST 1A= - fofiC

pp =[0=y=1a=T3Y
1=Y3{H3YC A=a=vail

WSSV 2T0AC
N=AT=1CA T=r=haily
3&3Naiab 1=é63aA=Y

TSIV by TWY»AC
NCUY=Yafa-asl

Bp 3NU3Y31A3T3Y
137T3A3YC
&3llaser=(CY yave

=1 ATadu

a3(&3vaiu
AY13U»YA = AT4s0 Ae 31 7400 A 3 ATl Asr 3 A0 A
S 13¢C - T2 2R80V»AC - T2 =20a0Y»AC - T2 =2ha0Y»AC - T=212040Y»AC
PA1T=1C 3YT=Y45UA - 400=1A S — S - s s —
(N=%=h 0 il 0 0 o - 0 il
1ﬁ3UY>>ﬁél') = '(f) - = iz {g < (?’)- .>: < .m .
i RS oA e
= § L = =3 = nw = R
3 S 3 20 3 - 3 =0
f - f noe f 0 i f -
g 20 g e 0 g a0 g 20
< 0" < 0 < 84 < m -
£ R 4 £
a 4 a
1 2 3 4 5 6 7 8 9
AU_2g°UA 12E&°5 10,713,895.9| 575,845.2 575,845.2| 1,417,554.8 1,417,554.8| 20,000.0 20,000.0| 11,533.7 11,533.7
=1 ATas0
AUAZOET 12E&°5 10,657,055.9| 575,845.2 575,845.2| 1,417,554.8 1,417,554.8 0.0 0.0| 11,533.7 11,533.7
=1 Afas0
2pEZT2Upk 120021020A0a0U 0,054,033.6| 482,545.8 482,5458| 1,149,572.1 1,149572.1 0.0 0.0 0.0 0.0
=1 Afas0
_A2UAT 1x3AT40 SRES W 213000 N2 12 IxSAY»h 0,054,033.6| 482,545.8 482,5458| 1,149,572.1 1,149572.1 0.0 0.0 0.0 0.0
=1 Afas0
“ZRESTA0V»AC SRES TS 30001~ NS 1 »E2 TxSAT»N 8,563,746.1| 457,217.3 457,217.3| 1,051,983.2 1,051,983.2 0.0 0.0 0.0 0.0
- 30203002 13Y, 1B W ST13Y -~ &1 213 3F 490,287.5| 253285 25,3285 97,588.9 97,588.9 0.0 0.0 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
1282020AUa000°8K ©1 2a0620sU°8k 1,380,103.4| 92,646.3 92,646.3| 244,472.7 244.472.7 0.0 0.0 0.0 0.0
0°es” ©5260
=1 Afas0
PSRAVST=13Y 1SEe»h 860,502.2| 24,143.6 24,143.6| 136,33L.7 136,331.7 0.0 0.0 0.0 0.0
=1 Afas0
“UY»ii-> 0 CT 12631A0AE0Y Y»h 400,552.9| 13,202.1 13,202.1 60,019.5 60,019.5 0.0 0.0 0.0 0.0
- Talav=t 1=631a0Ala0Y V»h 27.3632| 1,596.0 1,596.0 5,960.0 5,960.0 0.0 0.0 0.0 0.0
“ T340 1=26=1a0Aa0Y Yh 420,664.6| 8,586.1 8,586.1 60,470.1 60,470.1 0.0 0.0 0.0 0.0
- 233041 =-A=13Y [SEé»h 2,559.4 759.4 759.4 520.0 520.0 0.0 0.0 0.0 0.0
~9TA0IC ~ 62U TanalV»1C T 2R0= T 3ta0kaY 9,362.1 0.0 0.0 9,362.1 9,362.1 0.0 0.0 0.0 0.0
ManTa60a00V»NC ~ RAG= - SIAGAIABYY»AC TS Eexh 47528.7| 15,001.7 15,001.7 4.217.0 4.217.0 0.0 0.0 0.0 0.0
A3U372-A310Y =E 12631a0AA0Y V»NiC O»EUp»hasy 101,173.4] 23,0055 23,005.5 26,444.0 26,444.0 0.0 0.0 0.0 0.0




9T

20la5e=T 03-03-01

1 2 3 4 5 6 7 8 9
T DSUS13n- 23T 1563Ia0Aa3YY o 46,7675 300.0 300.0 9,100.0 9,100.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(a0Ala0YY»h 17,671.9 6,815.5 6,815.5 0.0 0.0 0.0 0.0 0.0 0.0
- T3 13083 13Y 1263a0AlasYY»h 17,344.0 0.0 0.0 17,344.0 17,344.0 0.0 0.0 0.0 0.0
- U»AT3(20406521T3Y 13Eé»i 19,390.0( 15,890.0 15,890.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =Ty 1363 R0Aa0YI»TC O»6Up»Tiall 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TO3aY3 -G 3137 12631a0Na0YVoh 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=Na=Yai0 (126=A0Ra Vo 253140| 4,757.0 4,757.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 10,0000 _ 3,000.0 3,000.0 0.0 0.0 0.0 0.0 0.0 0.0
DIV 3YHRC - 63003 1ARAIUY»AC AYASOCT Yana-ail 15,3140| 1,757.0 1,757.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 333,565.4| 25,648.5 25,648.5 74,373.0 74,373.0 0.0 0.0 0.0 0.0
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 252,017.1 3,598.4 3,598.4 61,106.1 61,106.1 0.0 0.0 0.0 0.0
- TABYEAARW3ICY YlaiA»h 67,214.0| 21,600.0 21,600.0 12,350.0 12,350.0 0.0 0.0 0.0 0.0
TA>V63031CY ~ NSYRSICY 8YYAG VIAbA 11,0143 4501 4501 916.9 916.9 0.0 0.0 0.0 0.0
TP & YAS T ST3CY SE ViaoAoh 3,320.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1ues @i I°eUé2Aab21u°s 29,340.0 0.0 0.0 22,140.0 22,140.0 0.0 0.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAAPY 1i=U=TY 3w =N=Tr aA=0n 29,340.0 0.0 00| 22,1400 22,140.0 0.0 0.0 0.0 0.0
Ya3euY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 29,340.0 0.0 00| 22,1400 22,140.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 193,578.9 653.1 653.1 1,370.0 1,370.0 0.0 0.0| 11,533.7 11,533.7
31 Atadu
P3AlI»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ‘ 10,993.8 653.1 653.1 1,370.0 1,370.0 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 182,585.1 0.0 0.0 0.0 0.0 0.0 0.0| 11,533.7 11,533.7
éla LLI/EUZUéZTZU 2ITEIUCBE T1ai 12Eé°8 56,840.0 0.0 0.0 0.0 0.0( 20,000.0 20,000.0 0.0 0.0
31 Atadu
D&@QZ?ZU oFzaoUed 56,840.0 0.0 0.0 0.0 0.0 20,000.0 20,000.0 0.0 0.0
31 Atadu
Dc"[.{ﬂoa °©7 bEUacAUaLUCS 19,500.0 0.0 0.0 0.0 0.0 19,500.0 19,500.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIAIYY»AC TSACT 3t T»A3Yana-ail 19,500.0 0.0 0.0 0.0 0.0] 19,500.0 19,500.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a000°8 36,840.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- I35 T3Y é3Au=Tanaly»a 36,840.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pAU2T2U @EzaoU°d 500.0 0.0 0.0 0.0 0.0 500.0 500.0 0.0 0.0

=1 ATadu
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500.0

0.0

0.0

0.0

0.0

500.0

500.0

0.0

0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr =0y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 03

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 03-03-01

Sl ATa00 ASH 1A= -fiofiG

DD 12T 3ASYY» ¢
&=Nasewr=3ICY yav

pp =(U=y=1a=T3Y

13Y3A3YC

T=ra04A185Y Y»fiC

%3 - 36450

PP 1 W3SV Y»fC
a3Nasvail

B0 23V Yoi
T=na0acAlasyY»ic

%3 - 26400

= Afsl AsT = Afsl AET = Afsl AET = Afal AET
S - I=r3Ra0v»aC | I=T=3740V»1C - I=1=ia0Y»iC - I=T=37a0V»AC
PatT31C 3YT3YaiUA N, N, — N, N,
\lmE (?')_ I>E \lmE z(?-; > \lmE (?')_ I>E \lmE (?')_ I>E
S nw S A S nw S nw
T 7E | T 5 7 iE |7 7 E
1] n 1] 20 1] iy 1] iy
< gd < n - < 8T < g°d
o 0 o o
a
10 11 12 13 14 15 16 17
AU b~2®chA 12Eé°8 171,051.4 171,051.4 840.0 840.0( 8,481,070.8 8,481,070.8| 36,000.0 36,000.0
31 AT40U
A‘L"JAZ(‘)/ET 12Eé°s8 171,051.4 171,051.4 0.0 0.0] 8,481,070.8 8,481,070.8 0.0 0.0
31 AT40U
2pE=T200k 128021620A0a50 0.0 0.0 0.0 00| 7.4219157|  7,421,915.7 0.0 0.0
31 AT40U
. ﬁ3~Uél' ‘I'><3ﬁ 740 BRES3T3T3i0» ~ NBT»EBTx3AY»N 0.0 0.0 0.0 0.0] 7,421,915.7 7,421,915.7 0.0 0.0
31 AT40U
- 20E 'I'éf)Y»ﬁC SRESTST3A0»A ~ NST»E3 Tx3iAY»ii 0.0 0.0 0.0 0.0] 7,054,545.6 7,054,545.6 0.0 0.0
1Z3O?Q?OC3-I-3Y, 1BY3II3Y " AT 3I3Y 3 0.0 0.0 0.0 0.0 367,370.1 367,370.1 0.0 0.0
126210V»AC A3 - =T
jZéZUéﬁAUéf)UUOé/E o1 23820gU°dk 0.0 0.0 0.0 0.0] 1,042,984.4 1,042,984.4 0.0 0.0
0°eg” °3200
31 AT40U
D?ﬁ?ﬁY?_I-Q’T:"Y I13Eé»i 0.0 0.0 0.0 0.0 700,026.9 700,026.9 0.0 0.0
31 AT40U
“UY»ii-> 0 CT 12631A0AE0Y Y»h 0.0 0.0 0.0 00| 327,3313 327,331.3 0.0 0.0
- TAUASY3E 13é3(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 19,807.2 19,807.2 0.0 0.0
“T=3AC 12631a0Ka0Y V»hi 0.0 0.0 0.0 0.0] 351,6084 351,608.4 0.0 0.0
- 233NAT3-[ST13Y I3BEé»i 0.0 0.0 0.0 0.0 1,280.0 1,280.0 0.0 0.0
~9TA0IC ~ 62U TanalV»1C T 2R0= T 3ta0kaY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ManTa60a00V»NC ~ RAG= - SIAGAIABYY»AC TS Eexh 0.0 0.0 0.0 0.0] 28,2200 28,220.0 0.0 0.0
a3U3V= A3y 3E 12631a0AA0Y Y»RC 0»60p»Nnaty 0.0 0.0 0.0 00 51,7239 51,7239 0.0 0.0
31 AT40U




6.7

20la5e=T 03-03-01

10 11 12 13 14 15 16 17
T DSUS13n- 23T 1563Ia0Aa3YY o 0.0 0.0 0.0 00| 37,3675 37,3675 0.0 0.0
- DO IBTT3T3Y 1363(a0Ala0YY»h 0.0 0.0 0.0 0.0 10,856.4 10,856.4 0.0 0.0
- T3 13083 13Y 1263a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»AT3(20406521T3Y 13Eé»i 0.0 0.0 0.0 0.0 3,500.0 3,500.0 0.0 0.0
2EUSEY= -0 =Ty 1363 R0Aa0YI»TC O»6Up»Tiall 0.0 0.0 0.0 00] 120197 12,0197 0.0 0.0
31 Atadu
TO3aY3 -G 3137 12631a0Na0YVoh 0.0 0.0 0.0 00| 12,0197 12,019.7 0.0 0.0
AVAS6CT Vara- a0~ &=Na=Yai0 (126=A0Ra Vo 0.0 0.0 0.0 00| 17,4500 17,4500 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 0.0 0.0 0.0 0.0 7,000.0 7,000.0 0.0 0.0
DIV 3YHRC - 63003 1ARAIUY»AC AYASOCT Yana-ail 0.0 0.0 0.0 00| 10,4500 10,450.0 0.0 0.0
a=Na=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 233,543.9 233,543.9 0.0 0.0
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 0.0 0.0 0.0 0.0 187,312.6 187,312.6 0.0 0.0
TANSYeAAN T 3T Yiashnn 0.0 0.0 0.0 00| 33,2640 33,264.0 0.0 0.0
TA>V63031CY ~ NSYRSICY 8YYAG VIAbA 0.0 0.0 0.0 0.0 9.647.3 96473 0.0 0.0
TP & YAS T ST3CY SE ViaoAoh 0.0 0.0 0.0 0.0 3,320.0 3,3200 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1ues @i I°eUé2Aab21u°s 0.0 0.0 0.0 0.0 7,200.0 7,200.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAAPY 1i=U=TY 3w =N=Tr aA=0n 0.0 0.0 0.0 0.0 7,200.0 7,200.0 0.0 0.0
Ya3euY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0 0.0 0.0 7,200.0 7,200.0 0.0 0.0
2UE 12E6°8 171,051.4 171,051.4 0.0 00| 89707 8,970.7 0.0 0.0
31 Atadu
P3AlI»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ‘ 0.0 0.0 0.0 0.0 8,970.7 8,970.7 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 171,051.4 171,051.4 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2ITEIUCBE T1ai 12Eé°8 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
31 Atadu
D&@QZ?ZU oFzaoUed 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
31 Atadu
Dc"[.{ﬂoa °©7 bEUacAUaLUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIAIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a000°8 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
31 Atadu
- I35 T3Y é3Au=Tanaly»a 0.0 0.0 840.0 840.0 0.0 0.0| 36,000.0 36,000.0
20k pAU2T2U @EzaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T3/-U=Y 03 p=AYC 03
EUUC 02 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»1C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NaLT2TV»AC

D? M»EI3IN1
20i466=T N 03-03-02

20la6e=T 03-03-02

S ATa0l ASH T7= - fofiG

DD US40 Gz TasYUY»fiC
A3 Ta3YC
SPESTSTUC
&=N&=YU3Y I3Eé»h

DRVACY ANTAZYC.
-fiZe»YI=T¢ a=a=vail

PP U=i14
CA=TAIYUY»AC
A3RTas3ve
SRESTST3UC
T=7404a0AA0YY»AC
%3 - 26430

L3 3T3na0ARYY»ACY
AVL.ATT3T A3A-USYCAY»fC,
+&f0= - » W Y»AC ~ TT3Y»AC
13A031RasAlasy

AY130»YA
1340 31 ATaiU Aer 31 Aracl Aewr 3 Ataol Aer 3 Ataol Aewr
PALT2IC 3YT=V45UA -4U=AA - TS T3AA0V»AC - T3U3RaAc | | T3T3mra0v»Ac - T30V AC
(=v=3h B b . b b
1A3UY»nar y y > y y )
) \lmE ‘L%)g‘ % \lmE ii% ;%% \lmE ‘L%)g‘ % \lmE (?')_ I>E
S F5 0 hS -3 hS FS 0 < nE
2 o4 = og 2 n = 2 o4 = og 2 00
> S iy > Kq0 > S iy > = -
f 0ES f 0o f 0ES f 0 ic
R QM g i d SRS d o 0
,>_ I o 2 ,>_ [yl w ,>_ i off 2 «>- o
< 5.0 < 7% < 5.0 < a
e > o
0
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé°3s 663,756.3| 254,824.2 254,824.2( 377,272.1 377,272.1| 1,160.0 1,160.0 15,500.0 15,500.0
31 Arasl
AUA20LT 12Eé°8 662,596.3( 254,824.2 254,824.2( 377,272.1 377,272.1 0.0 0.0 15,500.0 15,500.0
31 Arasl
2pE2T2Ugk 12802TdatAlacU 190,142.8| 190,142.8 190,142.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_ABUAT Tx3AT140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 190,142.8| 190,142.8 190,142.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 176,437.7| 176,437.7 176,437.7 0.0 0.0 0.0 0.0 0.0 0.0
- p=0=0P0C312Y, 1S3 A w13 3 13,705.1| 13,705.1 13,705.1 0.0 0.0 0.0 0.0 0.0 0.0
1=263(40Y»AC A=A - =1f4U
12&20a0AUa0UUCSE ©T1 2482UgU°sk 76,005.1| 60,505.1 60,505.1 0.0 0.0 0.0 0.0 15,500.0 15,500.0
0ceg” °daid
31 Arasl
P3faiYST3T3Y ISEé»h 16,352.7 16,352.7 16,352.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
“UY»ii-> 0 CT 12631A0AIE0Y Y»h 5862.2| 5,862.2 5,862.2 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é3acAlasy Yr»h 79.2 79.2 79.2 0.0 0.0 0.0 0.0 0.0 0.0
“T3AC 1=2621a0Aa0Y Yh 7.167.3] 7,167.3 7,167.3 0.0 0.0 0.0 0.0 0.0 0.0
- 283Nai=3-A313Y I2Eé»i 400.0 400.0 400.0 0.0 0.0 0.0 0.0 0.0 0.0
~9TA0IC -~ 62U TanalV»1C T =R0= T 3ta0kaY 2,8440| 2,844.0 2,844.0 0.0 0.0 0.0 0.0 0.0 0.0
ManTa60a00V»NC ~ RAG= - SIADAIABYY»AC TS Eéxh 18,7189| 18,7189 18,718.9 0.0 0.0 0.0 0.0 0.0 0.0
a3U3Y3-nA3ICY 3k 13é3a0AladYY»nC O»eéuu»hiailu 22,295.6 6,795.6 6,795.6 0.0 0.0 0.0 0.0 15,500.0 15,500.0
31 Atadu




28T

20la5e=T 03-03-02

1 2 3 4 5 6 8 9
- I3NEST13Y 13¢63la0AIa6Y Y1 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0 15,000.0 15,000.0
- D3U3T31-53CY 1363[a0Ala6YY»1i 1,385.0 1,385.0 1,385.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 1,760.6 1,760.6 1,760.6 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 500.0 0.0 0.0 0.0 0.0 0.0 0.0 500.0 500.0
- U»fil3[3064064=313Y 13Eé»h 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3VYAHA uYAUAC 3 1=63(asAladYY»h 950.0 950.0 950.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C-I- Yana-ail -~ a3Na3Yail (13é3lasAladyY»i 4,218.4 4,218.4 4,218.4 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 4,218.4 4,218.4 4,218.4 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 14,4195 14,4195 14,419.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiasA»n ™ N3 - 406w 3,076.0 3,076.0 3,076.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 10,190.2( 10,190.2 10,190.2 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAnii 1,153.3 1,153.3 1,153.3 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 3,943.8 3,943.8 3,943.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe31%-3ICY T3HUST»NAAAIEGYY»ACY 3,943.8 3,943.8 3,943.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OQI 1A3U3RYAANY »A UCe3Y- 3(CY 3,943.8 3,943.8 3,943.8 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
eaok=t=1 20 U&a=2éT1uU°s ©i 1°eUé=2Aap210°s 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
31 Afadu
éééQ3E3-l-3Y 0-YalAlRY 1303 13Y 3w 3N3rasAl=lu 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
Ya3&uY»f (ulase»Co)
31 Afadu
- 2 YA3eY»ii plaic»Co 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 232.5 232.5 232.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D3>, é?ﬁj|'31(;ﬁ TX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, aﬁaYu ‘ 232.5 232.5 232.5 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1Ch=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
aa QEU?UéZ 120 2TTEIUCBE T1ai 12Eé°8 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
31 Afadu
D/E@pzizU PExAOUCS 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
31 Afadu
Q?Z?U?Uoé °i é28g2T1a6agues 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0
31 Afadu
- T3NEST3Y 6303 TanaslY»i 1,160.0 0.0 0.0 0.0 0.0| 1,160.0 1,160.0 0.0 0.0




€8T

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T3/-U=Y 03 p=AYC 03
EUUC 02 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»1C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NaLT2TV»AC

S ATa00 ASH 175 fofiC

2y [ x3fay=TaA=Y
-ART»AAT T26= T2RACAY»ACY
Cii»Y6 U= ai6=1
136=3[a0AlasYY»AC 1C0=6

+aEN=T1a064il

o = Ay fe
PATT3IC 3YT3YajuA - I3713A40Y»A¢

-

7 g

s S

810

10 11
AU b~2®?UA 12Eé°5 15,000.0 15,000.0
31 Afadu
A‘L"JAZ(‘)/ET 12Eé°d 15,000.0 15,000.0
31 Afadu
2PI§?T%UZ/E 12802T1da0AUasuU 0.0 0.0
31 Afadu
. ﬁ3~Uél' kil 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRES TS T30» ~ NS T»E3 Tx3AY»fi 0.0 0.0
- Z3C~)f3t:11,3(')(23_|-3Y, 13YI3Y T AT 3I3Y 3 0.0 0.0
13¢30a0Y»AC &=h-"3hasl
!ZéZUéﬁAUéﬁquélE °71 250620gU°sE 0.0 0.0
0°eg” °6a0Qd
31 Afadu
D?ﬁ?ﬁY?-l-'\”-l-?’Y I3Eé»i 0.0 0.0
31 Afadu
- WY»h -»WCT 13é3a0Ala5YY» 0.0 0.0
- TaU&GY=3E 1=363[a0AlaiY Y» i 0.0 0.0
- 13AC 13é3aAlasY Y»h 0.0 0.0
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0
- Ta0l0C ~* =30 TanaslY»Aac 1303 T3EaoAlasy 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1S Eé»f 0.0 0.0
a=u=y=-i=Cy Sk 1=263aiAlasy Y»fi¢ O»éupxiiatl 0.0 0.0
31 Afadu
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10 11
- I3NEST13Y 13¢63la0AIa6Y Y1 0.0 0.0
- D2UST31-53(CY 1363[a0Ala5Y Y»i 0.0 0.0
- DO IS TT3T3Y 1363(40AIa0YY»h 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0
- U»fil3[3064064=313Y 13Eé»h 0.0 0.0
- AYIN3VYAHA uYAUAC 3 1=63(asAladYY»h 0.0 0.0
AYA?(')C.I- Yana-ail -~ a3Na3Yail (13é3lasAladyY»i 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiasA»n ™ N3 - 406w 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0
- T»Y6303(CY " NBYAZ(CY 8YY1C YIasA»h 0.0 0.0
)6%@290369006 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-3CY T3S T»NA4asAAsYY»ACY 0.0 0.0
31 Afadu
- AYAS6CT TA=USRYAANY»f UCe3%- 3(CY 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
eaok=t=1 20 U&a=2éT1uU°s ©i 1°eUé=2Aap210°s 15,000.0 15,000.0
31 Afadu
éééQ3E3-l-3Y 0-YalAlRY 1303 13Y 3w 3N3rasAl=lu 15,000.0 15,000.0
Ya3&uY»f (ulase»Co)
31 Afadu
- 2 YA3eY»ii plaic»Co 15,000.0 15,000.0
(¢ 128655 00 0.0
31 Afadu
D3>, é’l?'ﬁjl'31(lﬁ I'X?ﬁY»ﬁ - 'I'él’f)UA»ﬁ, éﬁéYU ‘ 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1Ch=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
aa QEU?UéZIZU 2TTEIUCSE T1ai 12Eé°8 0.0 0.0
31 Afadu
D/E@pzizU PExAOUCS 0.0 0.0
31 Afadu
@?Z?Uéuoé °i é28g2T1a6agues 0.0 0.0
31 Afadu
- T3NEST3Y 6303 TanaslY»i 0.0 0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2E»AC - 4f1=26Y=T3Y 1363T37-U=Y 03 p=AYC 04
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

P3i»ET3IN1

200as6=3T N 03-04-01

S ATa00 ASH TR fofiG

Pb 1= =E3Ya0AI=Y
a=Na=vai

Pb 1= =E3Y4a0AI=Y
a=Naie =gy yayr

=1 ATl Asr

= ATaU Aer

AYI2U»YA - T3 3Ra0V»AC - T3 3[a0Y»AC
o =60 = ~ 2 =
PA1T=1C 3YT=YaiUA -G0U=A k 3 k 3
(N=%=h s s = s
1A3UY»Aar) - < > Y
N f > f
S Bl S Bl
g i i i
< f < f
a a
1 2 3 4 5
AU_2g°UA 12E&°5 3,705,210.1| 3,627,061.1 3,627,061.1| 78,149.0 78,149.0
=1 A7 400
AUAZSET 12E&6°98 3,705,210.1| 3,627,061.1 3,627,061.1| 78,149.0 78,149.0
=1 A7 400
2pEZ12Ugk 1200210a0A0a00 3,131,818.6| 3,131,818.6 3,131,818.6 0.0 0.0
= A7 400
_A2UAT 1x2AT40 SRES W 213000 N2 12 IxSAY»h 3,131,818.6| 3,131,818.6 3,131,818.6 0.0 0.0
= Af 40U
- 2RESTA0V»AC SRES W ST 200o0 -~ N2 1562 1x3AY»A 3,088,776.2| 3,088,776.2 3,088,776.2 0.0 0.0
- 53030363 13Y, 131313 - > 1313y 3E 43,0424  43,042.4 43,042.4 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
1282020A0a600°3k ©1 2a0620s0°3k 493,291.2| 493,291.2 493,291.2 0.0 0.0
0°eg” ©5a00
= A7 400
P2RaI 12127 12Eé»h 191,288.9| 191,288.9 191,288.9 0.0 0.0
= A7 400
“YY»A-»> W CT 1263a0Aa0Y Y»h 105,698.0] 105,698.0 105,698.0 0.0 0.0
- TaUa0Y =t 1=6=la0kasy Y»h 1,344.1 1,344.1 1,344.1 0.0 0.0
“T=AC 1=26=1a0Na0Y Yh 80,606.8]  80,606.8 80,606.8 0.0 0.0
- 2&=Nai == 12Y 12Eé»h 3,640.0 3,640.0 3,640.0 0.0 0.0
MaRT1a00a00Y»NC -~ RAG= - SIA0AIABYY»C 12 E i 9,829.9 9,829.9 9,829.9 0.0 0.0
a3lU=v=- A=Y 3 1=262a0A0Y V»1G 0»8UH»haoy 109,074.2| 109,074.2 109,074.2 0.0 0.0
= A7 400
S1SMEE 12Y 1=2621a0Aa0Y Vi 3,000.0 3,000.0 3,000.0 0.0 0.0
“D=U=T=R-522Y 1=6=a0Aa0y V»n 63,674.2 63,674.2 63,674.2 0.0 0.0
O 12T 12137 126=la0Aa0yV»h 31,8000]  31,800.0 31,800.0 0.0 0.0
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1 2 3 4 5
- T3ES T3S 13Y 13¢3a0Ala6YY» 1 400.0 400.0 400.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 8,000.0 8,000.0 8,000.0 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 2,200.0 2,200.0 2,200.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 43,850.1 43,850.1 43,850.1 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 11,4911 11,491.1 11,491.1 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 32,359.0 32,359.0 32,359.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 139,248.1 139,248.1 139,248.1 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406w 61,699.6 61,699.6 61,699.6 0.0 0.0
- TASYEAANT3ICY YiasA»i 76,440.0 76,440.0 76,440.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 1,108.5 1,108.5 1,108.5 0.0 0.0
2UE ~‘| ZEéoé 80,100.3 1,951.3 1,951.3| 78,149.0 78,149.0
31 Afadu
93ﬁ-|-»ﬁ, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ . 'I_'{El}ﬁUA»ﬁ_,_éf]‘élYU" ‘ 1,951.3 1,951.3 1,951.3 0.0 0.0
1=e=T30U3Y 1=3ip»ii UST=3A1=1TY»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 78,149.0 0.0 0.0| 78,149.0 78,149.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y3T3Y 1263T20-U3Y 03 p=AYC 05

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

S ATa00 AST T7=-fiofiG

pi»3T3T31a03T3Y
N=0=T=-¢ &=Na=YaiU

=1 ATl Asr

=1 ATadu

AVIZU»YA \ TS W3A40V»AC
135¢ o=t
PALTSIC 3YT3YaUA - 46U HA 0 T
(V== = 8
1A3UY»har) <-E :f 1:;(%
>£ 'm jle
o ,(?; U}
> ) |
< )
0
1 2 3
AU 2g°UA 12E6°5 9,084,023.7| 9,084,023.7 9,084,023.7
3 A4l
AUAZOET 12E6°5 8,884,023.7| 8,884,023.7 8,884,023.7
3 A4l
2pE2T120pk 1280216a0A0a00 6,327,402.1| 6,327,402.1 6,327,402.1
3 A4l
_ASUAT 120140 SREST 313000~ N2 1563 Tx3AY»1 6,327,402.1| 6,327,402.1 6,327,402.1
3 ATasl
T 2RESTA0Y»AC SRES WS 12A000 NS T2 [xSAV»h 6,327,402.1| 6,327,402.1 6,327,402.1
T12&820a0A0a0U°8K ©1 2a8=2UgU°0k 2,499,7255| 2,499,7255 2,499,7255
0ceg” ©3a6%
3 A4l
PSRAY S 1213V 1SEéx 7759765 7759765 775,9765
3 A4l
I -»> WGl 1=262A0Aa0Y i 695,020.8|  695,020.8 695,020.8
- TAU&Y 3t 1=6=1a0AIa0Y Vi 43563.0|  43,563.0 43,563.0
“T=34C 136=laAa0YY»n 26,018.7|  26,018.7 26,018.7
“2a=0a1 =2 =13 1SEé»h 3,850.0 3,850.0 3,850.0
- qA0ILC -~ E3AUSTaNAUY>AC 13101 StasAlaoY 7,524.0 7,524.0 7,524.0
Man1400800Y»NC ~ Bric= - SAOARIVY»AC 1SEe»n 10,0480|  19,048.0 19,048.0
asli=Y= A=Y SE 1=6SaAR0Y Y»NC O»6Uy»NasU 14218.4| 14,218.4 14,2184
31 Afa50
T ISMES 13 12621a0Aa0Y Vo i 1,044.0 1,044.0 1,044.0
O ST T213Y 12623A0AA0YY i 13,1744 13,174.4 13,1744
203672 -Cr =12 1263R0AAYV»C O»EUp»nail 1,204.1 1,204.1 1,204.1

D? M»EI3IN1
200466=3T N 03-05-01
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1 2 3
0= -Cr 3137 1263 1a0Na0YYoh 1,004.1 1,2041 1,204.1
AVASGCT Vaia-ai0 ~ &=N&=Yall (1=26=R0AR6V Y - 150,127.9| 150,127.9 150,127.9
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 141,000.0| 141,000.0 141,000.0
DIV 3YHRC - 63003 1ARAIUY»AC AYASOCT Yana-ail 9.127.9 9.127.9 9,127.9
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,539,150.6| 1,539,150.6 1,539,150.6
31 Atadu
T qIR2EVIET2ICY VidbAn ~ N2 -&06 1 279,586.4| 279,586.4 279,586.4
TANSYeAAN T 3T Yiashnn 104,0130| 104,013.0 104,013.0
TAV63031CY - NSYRSICY 8YYAG VIAbA 1,134,356.7| 1,134,356.7 1,134,356.7
DT &l YAS T ST3Y SE ViaoA h 21,1945| 21,1945 21,1945
éaOfEZEZTZU Ua=2étu°os i 1°Ué2Aab=21U°s 51,100.0 51,100.0 51,100.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr &A= 00 51,1000|  51,100.0 51,100.0
Ya3euY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 51,1000|  51,100.0 51,100.0
2UE 12E6°8 57961] 57961 5,796.1
31 Atadu
P3AT»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ) 4,296.1 4,296.1 4,296.1
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 1,500.0 1,500.0 1,500.0
éh"?l lilﬁEUZUéZTZU 2TTEIUCHE T1a1 12Eé°5 200,000.0 200,000.0 200,000.0
31 Atadu
D/EQQZiZU oFzaoUed 200,000.0 200,000.0 200,000.0
31 Atadu
Dc"[.{ﬂoa S EYXENNIES) 200,000.0 200,000.0 200,000.0
31 Atadu
T B»YUmAC -~ RCYADRIAGYY»NG RCYSASNAAADY 200,000.0| _ 200,000.0 200,000.0
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f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC - aRT=26V=2T3Y 1263T20-03Y 03 p=AYC 07

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

D? M»EI3IN1
200466=3T N 03-07-01

20lae=T 03-07-01

S ATa0l AS W 1A= - fofiG

PD OYVEST=3Y TalCw»G
a=Na=vai

Pb OYYE=T3Y TAUC1»G
a=Naie =gy yayr

Pb N=wasT uyvasT3yY
I=é3laiA=Y a=Na=val

b N3 asl uyYa313yY
13é3(aAl=Y
T=Ra045A185YY»fiC
%21 - 36450

AY13U»YA =1 AjaoU A8 = ATa00 A8 = ATa00 A8 = Afa00 A8
S 136C - T2 3Ra0V»AC - T=1=040Y»C - T2r2aa0V>Ac | | T2 Tr=3/a0v»ic
PA1T=1C =Y =YailA - 430=RA N, N, N, N,
=%= : : : :
1ﬁ(30Y»ﬁél') \lmE ry \lmE ry \lmE _ \lmE _
< JUN < L < R < R
BN - > 0 - BN - > -
g 2= g o= & 251 g =11
< 2 < 2 < - < -
1 2 3 4 5 6 7 8 9
AU_20°0A 12E&°8 6,312,675.7] 5,571,870.6 5,571,870.6| 92,9364 92,936.4| 628,147.7 628,147.7| 7,000.0 7,000.0
=1 A7 400
AUAZSET 12E&6°98 6,305,675.7| 5,571,870.6 5,571,870.6| 92,9364 92,936.4| 628,147.7 628,147.7 0.0 0.0
= A7 400
2pEZ12Ugk 1280210a0A0a00 5,360,662.2| 4,814,670.6 4,814,670.6 0.0 0.0 545,991.6 545,991.6 0.0 0.0
= A7 400
_A2UAT 1x3AT40 SRES W 213000 N2 12 IxSAY»h 5,360,662.2| 4,814,670.6 4,814,670.6 0.0 0.0 545,991.6 545,991.6 0.0 0.0
= A7 40U
- 2RESTA0V»AC SRES W ST 20050 -~ N2 1562 1xSAY»A 5,272,386.0| 4,774,015.2 4,774,015.2 0.0 0.0 49837058 498,370.8 0.0 0.0
- 53020260212, 131213 - a» i =12Y 3F 88,276.2| 40,6554 40,655.4 0.0 0.0| 47,620.8 47,6208 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
12620a6AUa600°8K ©1 2a020sU°0k 677,434.1| 602,438.8 602,438 8 0.0 0.0| 74,9953 74,9953 0.0 0.0
0°es” ©5260
= A7 400
P2RaI= 12137 12Eé»h 260,730.2| 236,309.0 236,309.0 0.0 0.0| 24,4212 24,4212 0.0 0.0
= A7 400
YA -»> W CT 1263a0Aa0Y Y»h 131,341.0| 117,463.3 117,4633 0.0 0.0| 13,877.7 13,877.7 0.0 0.0
- TaUaoY =t 1=6=la0kasy Y»n 2,319.2 1,890.8 1,890.8 0.0 0.0 4284 4284 0.0 0.0
“T=AC 1=26=1a0Aa0Y Y1 123,755.0| 113,794.9 113,794.9 0.0 0.0] 9,960.1 9,960.1 0.0 0.0
-2&3Nai = -2 13Y 12Eé»h 3,315.0 3,160.0 3,160.0 0.0 0.0 155.0 155.0 0.0 0.0
ManTa0a0UY»1C ~ BACS - SIABARIYY»NC 12 Eé»h 54,606.8|  49,566.8 49,566.8 0.0 0.0| 5,040.0 5,040.0 0.0 0.0
a3U3V= A3y 3E 12631a0AA0Y Y»AC 0»60p»Naty 77,9850  68,685.0 68,685.0 0.0 0.0| 9,300.0 9,300.0 0.0 0.0
=1 A7 400
SIS 12Y 1=2631a0Aa0Y Vi 34,500.0]  30,500.0 30,500.0 0.0 0.0| 4,000.0 4,000.0 0.0 0.0
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1 2 3 4 5 6 7 8
T DSUS13n- 23T 1563Ia0Aa3YY o 8.235.0 7.635.0 7.635.0 0.0 0.0 600.0 600.0 0.0 0.0
- DO ISTT3T3Y 136340AlA6YY»A 17,250.0 15,550.0 15,550.0 0.0 0.0 1,700.0 1,700.0 0.0 0.0
- T3E63T3AT3Y 136340AlasYY»A 4,000.0 3,500.0 3,500.0 0.0 0.0 500.0 500.0 0.0 0.0
- U»AI320640608313Y 1=Eé»f 10,500.0 8,000.0 8,000.0 0.0 0.0 2,500.0 2,500.0 0.0 0.0
T AVINSYaAdN pYAOAC SE 1363 R0N&Y YR 3,500.0 3,500.0 3,500.0 0.0 0.0 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CH31I3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 2,089.2 2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
31 Atadu
TO3aY3 -G 3137 1263100 Voh 2,089.2 2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
AVASGCT Vaia-ai0 ~ &=N&=Yall (1=26=R0AR6V Y - 23,156.0]  20,950.0 20,950.0 0.0 00| 22060 2,206.0 0.0 0.0
YlaoA»fi)
31 Atadu
O IV 3YoRC - 6303 1ARAUY-AC AYASGOCT Yana-ail 23.1560|  20,950.0 20,950.0 0.0 00| 22060 2,206.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 258,866.9 224,928.0 224,928.0 0.0 0.0] 33,938.9 33,938.9 0.0 0.0
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 123,415.6 111,648.0 111,648.0 0.0 0.0 11,767.6 11,767.6 0.0 0.0
- TABYEAARW3ICY YlaiA»h 126,097.3 105,781.0 105,781.0 0.0 0.0] 20,316.3 20,316.3 0.0 0.0
TA>V63031CY ~ NSYRSICY 8YYAG VIAbA 4,549.0 3,049.0 3,049.0 0.0 00| 15000 1,500.0 0.0 0.0
TP & YAS T ST3CY SE ViaoAoh 4,805.0 4,450.0 4,450.0 0.0 0.0 355.0 355.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Uaz2étues ©i I°eUé=2Aap21U°s 157,705.3 150,865.3 150,865.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAAPY 1i=U=TY 3w =N=Tr aA=0n 157,705.3| 150,865.3 150,865.3 0.0 00| 68400 6,840.0 0.0 0.0
Ya3euY»h (ulase»Co)
31 Atadu
- 2 YAZE T Y»A pidic»Co 157,705.3 150,865.3 150,865.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
2UE ~‘| ZEéoé 109,874.1 3,895.9 3,895.9( 92,936.4 92,936.4 320.8 320.8 0.0 0.0
31 Atadu
P3AT»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ‘ 4,216.7 3,895.9 3,895.9 0.0 0.0 320.8 320.8 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 105,657.4 0.0 0.0 92,936.4 92,936.4 0.0 0.0 0.0 0.0
éh"?l lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
31 Atadu
D&@QZ?ZU oFzaoUed 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
31 Atadu
@?Z?U?Uoé o1 é28p21a06a000°8 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
31 Atadu
- 133 13Y 63A0=314Ra0UY»A 7,000.0 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0




T6T

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC - aRT=26V=2T3Y 1263T20-03Y 03 p=AYC 07

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

S ATa00 AST T7=-fofiG

Pb N=wasl uyYasT=y
1=é63laiAl=Y
a=fase =gy yavs

31 Afaol Aer
T=T=20a0V»AC

PALT=1C 3V T=VaiUA 3

0

= —_— =

= g0

g 851

<L \e

10 11
AU_2g°UA 12E&°5 12,721.0 12,721.0
31 Atadu
A‘L"JAZ(‘)/ET‘IZEéOES 12,721.0 12,721.0
31 Atadu
2PE2120pk 120021020A0a00 0.0 0.0
31 Atadu
_SUAT Ix3N140 SRES TS 120000 NS 1S 1x30Yoh 0.0 0.0
31 Atadu
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 0.0 0.0
- Z3O§g?éc3-l-3Y, 1Y 3I3Y T T 3I3Y 3 0.0 0.0
1=263(40Y»AC A=A - =1f&U
jZéZUéﬁAUéﬁUUoéﬁE °1 23620gU°sE 0.0 0.0
0°eg” °3200
31 Atadu
D?ﬁ?ﬁY?_I-3_I-3Y 13Eé»ii 0.0 0.0
31 Atadu
“UY»ii-> 0 CT 12631A0AE0Y Y»h 0.0 0.0
- TaUasY3t 13¢3[asAlasy V»h 0.0 0.0
“ T340 1=26=1a0Aa0Y Yh 0.0 0.0
- 243Nai=3-A313Y I2Eé»i 0.0 0.0
Tan1ai0asUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3(U3y3-a3(CY 3k 13¢63a0Ala0Y Y»fC 0»eup»hiail 0.0 0.0
31 Atadu
- PSS T3Y 1363(a0AlaiYY»hi 0.0 0.0

20lae=T 03-07-01



26T

10 11
- D3U3T31-53CY 1363[a0AIA6YY»1i 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0
- T3 13083 13Y 1263a0AlasYY»h 0.0 0.0
- U»AI320640608313Y 1=Eé»f 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 0.0
2U‘E U~3éY?’ -CH31I3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 0.0 0.0
31 Atadu
TO3aY3 -G 3137 1263100 Voh 0.0 0.0
AYA36CT Yana-ail = a3Na3YaoU (1363[asAlasyY»n 0.0 0.0
YlaoA»fi)
31 Atadu
OV 3YoRC 63U TanalUY-AC AYASGCT Yana- &l - 0.0 0.0
asNa=vail
Oléehoft (2&F=YuY»i) 0.0 0.0
31 Atadu
T qIR2EVIET3ICY VidbAn ~ N2 -&06 1 0.0 0.0
TTNSYeRan 1T 3LY Viabhon 00 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 0.0 0.0
TP & YAS T ST3CY SE ViaoAoh 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Uaz2étues ©i I°eUé=2Aap21U°s 0.0 0.0
31 Atadu
€46C3E3T3Y 0-YAABY 1ASUST3Y 3T 3N3raAl3ip 0.0 0.0
Ya3euY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0
2UE 12E6°8 12,721.0 12,721.0
31 Atadu
DSIoN, BN 2GR [xSYon - WA, ANaT ‘ 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2 I3Eé»i 12,721.0 12,721.0
32 UEU=2U8=T1=U0 2T1£1U°BE T1a1 126698 0.0 0.0
31 Atadu
DEPU=120 PE=a00°0 0.0 0.0
31 Atadu
7°6°U=0°8 ©1 6-60-1a62000°5 0.0 0.0
31 Atadu
- PSS T3Y é3A0=Tanaly»a 0.0 0.0

20lae=T 03-07-01
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U3Y 04 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

D? M»EI3IN1
200466=3T N 04-01-01

20lae=T 04-01-01

=1 A140 A6 TA=-finAC
Tani=1Ch CRE3YAsAI3Y,
fani=1ch CRE3VaiABY, A T3T3Y 13637303y
B3T3V 126313003 f=yp=gyrsr=y - W3S Y»AC
NSYAS&» 1 3T3Y TESASUBCY T3é3T3AU3Y UR=TU=Y
T3ASTUSCY 3631303y USRAUCYY»AC &3N&=3YaiU 1=¢63a0AlaYY» 1
USAUCYY»AiC a=la=Yail (YSE3A=naAlasy Y »nc
AVI3(»YA SRESTST3W»AC US64T)
1340 =11 K ear Aame- s N f e P
PO e 2a A L A [~ ATaU Aén 3t ATadu Aér 3 Atadu Aér
Pati=I1C 3Y13YaiuA -alU=nA e 2 AV e 2R o e £ A
(=4 - I3 340Y»fC - I3 3A40Y»MC - I3 T3R40Y»0C
1ASUY»AarT) 0')C - 0')C . 0')C .
> - _g}o ‘g}c,
N LesSls N e N S
> Aol 0 > 0 > S0
f SyC=3 f © f o
d Tem AR d -0 d -0
z =L & o f Z ~i Z ~>
87 = apd R
1 2 3 4 5 6 7
AU b~2®?UA 12Eé°5 3,635,659.6| 316,894.6 316,894.6 778,147.0 778,147.0 14,300.0 14,300.0
3r ATédU
AUAZOET 12Eé°d 3,634,659.6| 316,894.6 316,894.6 778,147.0 778,147.0 14,300.0 14,300.0
=1 ATaiU
ZPEZT%UZE 12802T18a0AUasU 1,171,242.6 281,169.2 281,169.2 713,050.3 713,050.3 0.0 0.0
3r ATédU
_ABUAT 1x31T40 SRESTST3A0»0 NS> Tx3Y»h 1,171,242.6 281,169.2 281,169.2 713,050.3 713,050.3 0.0 0.0
=1 AasU
- 2REZTA0Y»AC SRESTST3A0»A NS I»ES Tx3MY»f 1,084,335.7| 266,640.8 266,640.8 651,122.7 651,122.7 0.0 0.0
- g303036C3T3Y, 13T 313Y ~ a1 313Y 3 86,906.9| 14,528.4 14,528.4 61,927.6 61,927.6 0.0 0.0
=631a0Y»AiC &3 - 314l
jZéZUéﬁAUéﬁUUoéﬁE °i1 25620gU°sE 186,081.1 35,551.0 35,551.0 64,349.1 64,349.1 0.0 0.0
0°ég™ 2oadv
=1 ATaiU
P3fAYSTI3T3Y ISEé»fi 58,681.2 13,030.3 13,030.3 37,474.4 37,4744 0.0 0.0
=1 ATasU
- %Y»A-» 0 Cl 13é3(a6AIadYY»h 37,743.9 6,263.5 6,263.5 25,554.9 25,554.9 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 556.4 130.5 130.5 358.9 358.9 0.0 0.0
- T3AC 1363aAlasyY»i 19,780.9 6,436.3 6,436.3 11,244.6 11,244.6 0.0 0.0
- 283NaT=3-A=313Y I13Eé»h 600.0 200.0 200.0 316.0 316.0 0.0 0.0
anTas0alY»AC — Rc= - SasAlasYY»AC TSEe»n 41,100.4 7,817.2 7,817.2 10,500.0 10,500.0 0.0 0.0
a303Y=3-A3CY 3k 1=363a0AlasY Y»AC O»eup»iasl 38,219.3 3,559.8 3,559.8 4,054.0 4,054.0 0.0 0.0
=1 ATaiU




6T

20lae=T 04-01-01

1 2 4 6 7
- D3U3T31-53CY 1363[a0AIA6YY»1i 760.7 200.0 200.0 560.7 560.7 0.0 0.0
-'ZBE?'I:?_I-,?,’%UC UBeY3-CIr313Y %3i-36U3Y 775.5 0.0 0.0 0.0 0.0 0.0 0.0
1363(a0AlA0YY»h
- DO IBTTSI3Y 13¢3(aiAlaYY»h 15,317.6 827.8 827.8 489.8 489.8 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 860.0 500.0 500.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdAC 3 1363a0AlaiyY»h 20,505.5 2,032.0 2,032.0 3,003.5 3,003.5 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 21,680.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 21,680.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?OC-I- Yana-ail - a3Na3Yail (13é3asAladYY»i - 6,026.0 2,826.0 2,826.0 2,600.0 2,600.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu 6,026.0 2,826.0 2,826.0 2,600.0 2,600.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 20,374.2 8,317.7 8,317.7 9,720.7 9,720.7 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 5,006.8 1,420.7 1,420.7 3,124.0 3,124.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 11,122.0 4,745.0 4,745.0 4,683.0 4,683.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 89.4 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 2,156.0 152.0 152.0 1,913.7 1,913.7 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 2,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 886,772.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 886,772.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 886,772.6 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
. 6%@290369006 1,225,136.5 0.0 0.0 0.0 0.0| 14,300.0 14,300.0
31 Afadu
AYA3OQ| ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 1,225,136.5 0.0 0.0 0.0 0.0| 14,300.0 14,300.0
USTSR1=TY»ACY
31 Afadu
- AYA3OQ| f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 14,300.0 0.0 0.0 0.0 0.0| 14,300.0 14,300.0
3¢ TASICY 133 T»RA&AIY Y»ACY
- 2[f AYASACT 1i3U3RYAANY»f 1,210,836.5 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 165,426.8 174.4 174.4 747.6 747.6 0.0 0.0
31 Afadu
93ﬁ-|-»ﬁ, é’l?'ﬁ"l'31()ﬁ fX?ﬁ_Y:>>ﬁ . 'IjéﬁUA))ﬁ_,_éﬁéYU__ ‘ 944.0 174.4 174.4 747.6 747.6 0.0 0.0
1=e=T30U3Y 1"=3ip»ii UST=3A1=1TY»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 164,482.8 0.0 0.0 0.0 0.0 0.0 0.0
aa ukU20é2T12U 2TTEIUPBE 1A 12Eé°38 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu




S6T

20la5e=T 04-01-01

1 6 7
D/E@pzizU PrEeaoU*sd 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Aradu
Q?Z?U?Uoé °1 é28g=21ada60U°s 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Atadu
- T353T3Y 63n03T1anaUY»h 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0




96T

§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y dse»C US6CY 0D
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U3Y 04 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

20lae=T 04-01-01

S ATa0l AS W 1A= - fofiG

2irsesUSVal 36 TASCY

a=la=vail

DCLAANL» i " AASUSY=T=3Y
136=3(a0AlaY Y »fi

2c37640AaY 620
8a0U» T Y»ACY

anT=1Ch CRE3YaiARY,
AT3I3Y T3é63 13003y
NBYAS&»T3T3Y
TIASTUSCY 1363 T13i03Y
USAUCYY»AC
T=na0a0Ala6YY»AC
%31 - 36400

T A 3 AT400 Aer 3 AT400 A 3 AT40 Aer 31 Afasl Aer
173 33 33 - ~ . - ~ - . ~ - - ~ .
BatT=1G =Yi=vaUa - =1 340V»AC - 1= 3a0V»AC - IST3aa0AC | o =0 30V»AC
Be Be Be B
y > y > > y > ) . >
2 23 2 oL 28 a 23 a fef -
\— 0’)_ i< \— 0 H e 2ig \— 0’)_ i< \— = > ,“c‘?
< S8 < SO =8 < S8 < 03N
A P A 'y A P I A D @ o= el
> RC) > Loy S > 0 > Aol
0 RS 0 o m O 0 e 0 S oG ms
d =0 d D= d -0 d =0 a9
z il z R z i z ~EFTy
8 (Q_ 8 n U(Q_ 8 (Q_ 8 > o =
8 9 10 11 12 13 14 15
AU b~2®?UA 12Eé°5 156,042.2 156,042.2 886,772.6 886,772.6| 152,600.0 152,600.0 1,000.0 1,000.0
31 Atadu
AUAZ20ET 12Eé°d 156,042.2 156,042.2 886,772.6 886,772.6| 152,600.0 152,600.0 0.0 0.0
3 ATas0
2PE2120pk 120021020A0a00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
. A3VAT 1x3AT40 SREST3T3A0»A " NS T»E3 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 ATas0
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- a303030C313Y, 13T 33Y 7 »T3I3Y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[36340V»AC &3A- 3 1fiail
1282020AUa00U°SE ©1 2a62UgU°0k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OPeg” @oadd
3 ATas0
P3AaYST313Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 ATas0
- %Y»A-» 0 Cl 13é3(a6AIadYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T1=AC 12631a0Aa0Y VA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT3-A=13Y I3Eé»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NanT400800Y»NC ~~ BAc= - SA0AAYY»AC TSEe»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asli=Y= A=Y SE 1=6SaAR0Y Y»NC O»6Uy»NanU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu




.61

20la5e=T 04-01-01

8 9 10 11 12 13 14 15
- D3U3T31-53CY 1363[a0AIA6YY»1i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-'ZBE?'I:?_I-,?,’%UC UBeY3-CIr313Y %3i-36U3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1363(a0AlA0YY»h
- DO IBTTSI3Y 13¢3(aiAlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdAC 3 1363a0AlaiyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(')C-I- Yana-ail - a3Na3Yail (13é3asAladYY»i - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0| 886,772.6 886,772.6 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0| 886,772.6 886,772.6 0.0 0.0 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0| 886,772.6 886,772.6 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 152,600.0 152,600.0 0.0 0.0
31 Afadu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 0.0 0.0 0.0 0.0| 152,600.0 152,600.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA&AIY Y»ACY
- 2[f AYASACT 1i3U3RYAANY»f 0.0 0.0 0.0 0.0| 152,600.0 152,600.0 0.0 0.0
2UE ~‘| ZEéoé 156,042.2 156,042.2 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
93ﬁ-|-»ﬁ, é’l?'ﬁ"l'31()ﬁ fX?ﬁ_Y:>>ﬁ . 'IjéﬁUA))ﬁ_,_éﬁéYU__ ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1"=3ip»ii UST=3A1=1TY»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 156,042.2 156,042.2 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 1,000.0 1,000.0
31 Afadu
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. 62~®2P0369006 71,336.6 71,336.6 620,476.2 620,476.2| 397,299.5 397,299.5 135,239.5 135,239.5
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AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 71,336.6 71,336.6 620,476.2 620,476.2| 397,299.5 397,299.5 135,239.5 135,239.5
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CAST=Y30640U
PATTSTC SYTSVAIUA = Aaol As = Aal As i ATacl AST = Arail A
- TS0 Sia0V»fiC - TS 3a0V»fiC - T=T3ia0V»AC - TSTSHa0Y»AC
2 = 2 = b = b ~
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L 20 ofl o a 20 of of| I 20 ofl o a 22
— &< ;g << > f§ A B ;g << > f§ A &< ;g << > f§ A |n
< 0ogFIRN < < 0ZIRNZ < ogIBN < < i i
% Qe S 3 |arEsSiv8] 3 |ge5Ssns I mo
T seffi-n | F O |Cse0i-n| 7 SETH -y 7 0
N R =L s g hoTcar| < RIE=L A rEn
< Q %J B = < Q %J B = < Q %J B = <L a ¥
g> 0 g> 0 g> 0 2
18 19 20 21 22 23 24 25
AU _2g°UA 12E6°8 347,892.3 347,892.3| 5,800.0 5,800.0| 10,000.0 10,000.0 103,200.9 103,200.9
31 Arasl
AUAZOET 12E6°8 347,892.3 347,892.3| 5,800.0 5,800.0| 10,000.0 10,000.0 103,200.9 103,200.9
31 Arasl
2pE=120gk 1260216a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_A=UaT 1x2n140 SRES 1 =13M00R NS ToE3 Tx ST 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
T 2RESWA0Y»AC SRES TS 13000 N2 102 Ix3N1V»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- g30=302003T3Y, 131313 -~ & 1S13Y 3E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=63(40Y»AC &30 =74l
1282020A02000U°8& ©1 2a620pU°8k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” ©5200
=i Arail
PSRV T313Y 1SEéxrh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
SI»h-> K Gl T2ESIA0Aa0Y Y h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaUaY 3t 1=63lakany Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B EEY ERE P ERa 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T2aSNAT= - A= T3Y 1SEesh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- YIA0IIC 630 1aRaiUY»AC §=N0= 1 StabAlarY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 04-02-01

18 19 20 21 22 23 24 25
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. 62~®2P0369006 347,892.3 347,892.3 0.0 0.0| 10,000.0 10,000.0 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 347,892.3 347,892.3 0.0 0.0| 10,000.0 10,000.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 347,892.3 347,892.3 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0| 10,000.0 10,000.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0| 5,800.0 5,800.0 0.0 0.0 103,200.9 103,200.9
31 Afadu
P3fl»h, A3 W 31CA 1x3AY»i ~ wWailA», afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

126317302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p
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18 19 20 21 22 23 24 25
2E 1=2Eé»h 0.0 0.0 5,800.0 5,800.0 0.0 0.0 103,200.9 103,200.9
4a 0£U2082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
DEDUZ120 Bk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
poUg°8 ©1 PEU&sAUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=2 Ai 4ol
- P>YU»AC  BCYAOAAIYY»1C BCY=n=nasA&0y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~—2EU»WY3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pE@UZT20 0F2a00°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
-USES 31371 3137 [SEén 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

20lae=T 04-02-01

S ATa0l AST 17 - fofiC

Tlasd=wYw»easAl=y
afar Y wisU=1arad
T3AI»AC TATAE31AAGNY» G
8abpecI=1anl=3y Ii=-ch

uaceT %3h-30U3Y
UCe3%- =Y NCUY=31/30C
3¢3T64ARUp
CA=T=Y=6140 §4i0=T=Y
T=4045AA0YY»C

P3U3RE3ANZICY p=3YIC
3¢3T6aiAR U
CA=T=Y=6740 D2USNUY»AC
- (4303 T Y I »e3T3Y
E»8ANBY>AC T26ST3AUSY

TMlasd=31Yw»easAl=yY
%31 -36U3Y UCc31%-3(CY
NCUY=31A=0C 2¢3T64a0ARUn
CA=T=2Y=6140 §A60=T=3Y
T2&0aAAYY»AC &»0Tasl!

ew»014aU} T7=-Ch U6y =TasAi=Y 1/=- G i#=-Gh
DALT=TC =Y i=V4i0A S Atail AT Sk Arail AeT Sia Arail AST S Arail AST

- T=WS3fa0V»fC - I=w3A40V»AC - T=W3Aa0V»AC - I=w3A0V»AC

S - e — = — g —~

gmc i E 3 22 % & E 3 22

= 8ic = Sh = B2 = el

= s e = T 3 2B 5 g

> [0 > \m 5 /-0 3 \= '

0 - 0 0 0 - 0 0

g sno| 2 $i 3 a0 3 b

< 20 < = < 20 < =

> & 2= 8

26 27 28 29 30 31 32 33
AU_=0°UA 12E6°5 1,163,013.7]  1,163,013.7] 1,129,783.9|  1,129,7839| 648,212.9 648.212.9] 674,779.0 674,779.0
=1 AT 400
AUAZOET 12E6°8 1163,013.7]  1,163,013.7| 157,464.6 157,464.6] 500,518.9 500518.9| 555473 55,547.3
=1 Aral
2PE=12U gk 12602 T620A0A00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATl
_ASUAT 1X=0140 SREST=120000 - N2 1262 [x>Yoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Araol
T 2RES A0V SBES WS T30~ N2 1E2 X211 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- p=030=0C= T3, ST By S13Y SF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[=26=40Y»AC &=h- =14l
1282020AUa000°8E ©1 2a6=UpU°8k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°&0” ©5200
31 ATaol
PSAAT =112 [SEen 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATl
WA -> W CT T26=A0A&0Y Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&0Y =t 126 =1a0NA0V Vo R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
124G 126=10NA0 VYR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“285Na1= - A=Y 12Eesn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“WAGC T E=AU= TARAUYNC T =2H0= 1 Sta0AADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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26 27 28 29 30 31 32 33
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 157,464.6 157,464.6| 500,518.9 500,518.9 55,547.3 55,547.3
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ X3AY»A 'I'él’f)UA»ﬁ, anayu ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =3p»fi USTSA1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI31U3Up
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26 27 28 29 30 31 32 33
2 1=E6»0 0.0 0.0| 157,464.6 157,464.6] 500,518.9 500,518.9 55,5473 55,5473
2a uEU20&2120 ZTTA1UCSE T1a1 126695 0.0 0.0] 972,319.3 972,319.3| 147,694.0 147,694.0| 619,231.7 619,231.7
= A7 400
DEDUZ120 Bk2a0U°8 0.0 0.0] 972,319.3 972,319.3| 147,694.0 147,694.0| 619,231.7 619,231.7
=1 A7 400
poUg®5 ©1 PEUASAUA0U°S 0.0 0.0] 972,319.3 972,319.3|  83,693.7 83,693.7| 410,000.0 410,000.0
= A7 400
~ P»YU»AC ~ RCVABAIADYY»1C RCY SH=natAiasy 0.0 0.0] 972,319.3 972,319.3|  83,693.7 83,693.7| 410,000.0 410,000.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0| 64,0003 64,000.3| 135,920.0 135,920.0
=1 A7 400
—2EU»ir V3ol - E2A0=TARa0UY»A 0.0 0.0 0.0 0.0| 64,0003 64,000.3| 135,920.0 135,920.0
20k pEGUZT20 OE=2ao0°58 0.0 0.0 0.0 0.0 0.0 0.0 73,311.7 73,311.7
= A7 400
CUSE=- 13 1 S/AT 2137 126 0.0 0.0 0.0 0.0 0.0 0.0 73,311.7 73,311.7
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Pa1T=1¢ =Yi=VaslA

S AT45U Agw Ti= - finfi

¢

Mas03TY T »8313Y
NSU3T3A3T NSRT3603Y
Y2E3A3TAZ8T3T3Y
SRESTIVAY»AC
TSRS T»RA40 ~ SY6T=6450

_3YCST3Y A3 -3 aaAlBY
3¢3T6a0AIB0p CAST3Y36T40
§M1250=T3Y T31ia040Al46YY»AC

ew»0Tas0! 1A3U3RYARNSICY

[i=-CA

P3USRE=ANZICY p3YTC S¢=3T6a0AIS0p
CAZT3Y=26140 Ttau3t JTafa-C3T3Y
NCUY=1a=UC¢ Ta0UCo W A3U31ATST
P3U3YUY»AC -([Ei03T Y1 »83T3Y
é»840NBY»AC T363T3AU3Y
UnioasYSTasAl=yY 1i=U3RYARNSICY
1i=-Ch

22 Af 4l A6
T=21=2040Y»AC

21 Aol AS
T2 =2040Y»AC

21 Afal A6
T=02Ra0V»AC

\m= \m= \o=
@ @ ©
e e - e >
. >
\102: > 6- = \102: i% = \102: = 3
3 oy 8 3 g0 = gz
B o= X \@©
B 0 oS B nn B o=
3 & 0’) g 3 \m ' 3 8 ~.>-_ 0]
0 0 S?v U} L) 0] ol
s X s 1l g o
z E— < -5 < 90
= 2 >
34 35 36 37 38 39
AU _2@°UA 12Eé°3s 107,490.4 107,490.4 131,043.2 131,043.2 138,105.7 138,105.7
31 Arasl
AUAZ20LT I12Eé°d 107,490.4 107,490.4 131,043.2 131,043.2 138,105.7 138,105.7
31 Arasl
2pE2T2Ugk 12802Tda0AlacU 90,123.0 90,123.0 0.0 0.0 0.0 0.0
31 Arasl
_A=SUal 1x3n140 SRES T 3130070 NS 162 1x30Y»A 90,123.0 90,123.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 90,123.0 90,123.0 0.0 0.0 0.0 0.0
- 63030200313, 137313V~ & =13V 3F 0.0 0.0 0.0 0.0 0.0 0.0
1=26310Y»AC &=3A- =1 al
12&20asAlasuUUCBE @1 24a82UgU°BE 17,319.4 17,3194 0.0 0.0 0.0 0.0
0°eg” ©5200
31 Atadu
P3faiYST3T3Y ISEé»h 13,269.4 13,269.4 0.0 0.0 0.0 0.0
31 Arasl
- WY»h >0 Gl 1363aAlaiY V»h 2,579.4 2,579.4 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é3achlasyYr»h 97.0 97.0 0.0 0.0 0.0 0.0
-13aC 1=363laAlasyY»h 1,200.0 1,200.0 0.0 0.0 0.0 0.0
-233Nai1=-r313Y ISEé»h 121.0 121.0 0.0 0.0 0.0 0.0
- qJABILC T E=AU=TanA0UY»AC 1=R0= 1 StasAlady 9,272.0 9,272.0 0.0 0.0 0.0 0.0
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34 35 36 37 38 39
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 350.0 350.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 240.0 240.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 110.0 110.0 0.0 0.0 0.0 0.0
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TSRESTA0VNC SRESTST3000R -~ NS 1563 1x30Vmn 173,020 1730222 173,000.2
~0=0=0=6C13Y, ST By w2137 Ik 141186| 14,1186 14,1186
[363060Y»C A=A - 34U
T12820R0AURUUCBE ©1 2a5=UpUcsk 872137 87,2137 87.213.7
0°es” ©3a00
301 Afal
PSRANYST=T>Y SEenh 10,786.8| 10,786.8 10,786.8
301 Afal
IR > U CT 13631a0Aa Y Vo 56263| 56263 56263
“Talav =t 1563la0Na Vo 755 755 755
TTSAC 1565 aRavT»n 4.9250|  4,925.0 49250
TZESNaTS - AoISY ISEeoR 160.0 160.0 160.0
Tan1a00&0V>1C ~ BAC= - SIAABIYY»AC TSEé»n 15320  1,532.0 15320
A3IU=7= - A3KY S 1262TA0NA0T Vo1 O»eUimiatl 68,5198| 685198 68,519.8
301 Afasl
TD3UST3R-53KY 1563laAaYYoh 120.0 120.0 120.0

D? M»EI3IN1
200466=3T N 04-03-03

20lae=T 04-03-03



1€¢

1 2 3

- DO IBTT3T3Y 1363aAlaiYY»h 200.0 200.0 200.0
- U»fil3[3064004=313Y 13Eé»h 300.0 300.0 300.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 67,899.8 67,899.8 67,899.8
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 824.0 824.0 824.0
YlaoA»fi)

31 Afadu

- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 824.0 824.0 824.0
a=Na=vai

U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 5,551.1 5,551.1 5,651.1
31 Afadu

- TAZE»YIST3ICY YiasA»h ™ N3 - 406 940.9 940.9 940.9
- TASYEAANT3ICY YiasA»i 4,432.0 4,432.0 4,432.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 178.2 178.2 178.2
2UE ~‘| ZEéoé 114.8 114.8 114.8
31 Afadu

P3fil»f, &3 31CA 1x3iAY»f ~ wWailA»i, afayo 114.8 114.8 114.8

2631302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U

»Y UGUI=Y6 YT=rU=0p

20lae=T 04-03-03
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Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363137 U=Y 04 p=AYC 03
EUUC 04 126G Th=-fvAC - TaT N2 =7 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363130-U3Y NaLT2TV»AC

P3i»ET3IN1

20lae=T 04-03-04

200a56=3T N 04-03-04

S ATl AS W 1A= -fiofiG

P3U3RE3ANZ3ICY u3YIC
=2¢3T6aAR0u
CA=T=2Y=26140

JY»ii-3EY3(a0asAi3Y
1/=30=3RY4AN3CY TA=-CA

& _ 3¢316aA=0u
CAST=3Y36140 B3I313Y
2%T-C N 2 (Y»fi - SpFalIC
R=N=-anl03Y YSE=-T3(CY
ASUT»TC »AT3A36U3Y
1=03RYARNSICY T/=-Ch

P3U3RE3ANZ3ICY u3YIC
3¢3T64ARUp
CA=T2Y26740

ORTAZC»AUSICY
N» 1" 2E4i%313Y Nan=3ru3y
1i30=RYaAN3CY IA=-CA

AY13U»YA — —— —
136(¢ 31 Atadu AT 31 Atadu Aér 3L AtadU AT
PALT=IC =Y T=V45UA - 40U=iA - T3 1340V AC - TS 3R20Y»AC - TS 1340V AC
e | F 2 £ g : L2
n »nat oy A= oy A= oy A=
i <2 s o2 4 =25
= S8 - 25 - 25
3 - 3 - 3 O
S 2o 0 S 2 o 0 S 2o 0
U] . e U] f e 0 4 N
o IE > 0’) o IE > m o zE > m
> S 0w > S 0w > S 0w
< o=ty < Nt~} < o=ty
81> 81> 81>
= = =
1 2 3 4 5 6 7
AU _2@°UA 12Eé°3s 6,011,660.1| 111,416.1 111,416.1| 3,925,928.0 3,925,928.0( 1,631,939.7 1,631,939.7
31 Arasl
AUA20LT 12Eé°8 2,085,732.1| 111,416.1 111,416.1 0.0 0.0] 1,631,939.7 1,631,939.7
31 Arasl
20E 12Eé°s 2,085,732.1| 111,416.1 111,416.1 0.0 0.0] 1,631,939.7 1,631,939.7
31 Arasl
2[f ISEé»h 2,085,732.1| 111,416.1 111,416.1 0.0 0.0| 1,631,939.7 1,631,939.7
aa u£U=20é2T120 2TT£E1UCSE f1ai 12Eé°d 3,925,928.0 0.0 0.0] 3,925,928.0 3,925,928.0 0.0 0.0
31 Arasl
PEBU=2T2U gfzaoU°d 3,925,928.0 0.0 0.0] 3,925,928.0 3,925,928.0 0.0 0.0
31 Arasl
peUg°d 21 bEUatAUaUUCSH 852,335.4 0.0 0.0 852,335.4 852,335.4 0.0 0.0
31 Arasl
T P»YUAC  RCYAOAIABYY»AC TSACT 3E T»N=Yana - a0l 852,335.4 0.0 00| 8523354 852,335.4 0.0 0.0
@?Z?Uguoé o1 é28g21a06a000°8 3,073,592.6 0.0 0.0] 3,073,592.6 3,073,592.6 0.0 0.0
31 Atadu
- ZE U»U»Y3Y»f 7 é3Au31anailY»i 3,073,592.6 0.0 0.0] 3,073,592.6 3,073,592.6 0.0 0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363137 U=Y 04 p=AYC 03
EUUC 04 126G Th=-fvAC - TaT N2 =7 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363130-U3Y NaLT2TV»AC

Pa1T=1¢ =Yi=VaslA

S ATa0l ASH 1A= - fofiG

P3U3RE3AN3ICY u3YIC
=c31645A1=20p CRET=Y=36140
1=0=3Rvail ALY ATy
USERW=pC 330 ¢ Y»ii-C3(C
1= -AC Y3E3&3T7ize w3y
N=U= 1/=203/YaAN=3CY TA=-Ch

\m

31 AfaoU Aer
T=T=2Ra0V»AC

@
piem . O
y =
< :3 (f) =]
~>;\: :- mﬂ lg
® 2 om L
Q > )
> S 0w
<L T -
3%
=
8 9
AU)ZQOUA 12Eé°3 342,376.3 342,376.3
31 Arasl
AUAZ20LT 12Eé°d 342,376.3 342,376.3
31 Arasl
20t 12Eé&°d 342,376.3 342,376.3
31 Arasl
2[f I3Eé»h 342,376.3 342,376.3
aa ukU=20é2120 21TE1UCSE TT1ai 12Eé°d 0.0 0.0
31 Arasl
PEBU=2T2U gfzaoU°d 0.0 0.0
31 Arasl
peUg°d 21 bEUatAUaUUCSH 0.0 0.0
31 Arasl
- D»Yl]»ﬁc ” BCYéﬁAUéﬁYY»ﬁQ _I_3§1Q'I'3E »A3Yana-ail 0.0 0.0
Q?Z?U%U°6 o1 é28g21a06a000°8 0.0 0.0
31 Atadu
- ZE U»U»Y3Y»f 7 é3Au31anailY»i 0.0 0.0

20lae=T 04-03-04
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f»YUC 7-it NALT=TAT plabcr 20y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 04 p=AYC 03

EUKG 05 136G 1A= -AvfiC - Tal N2e = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T37- 037 N4 T2 1V»A¢

P3i»ET3IN1

200as6=3T N 04-03-05
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S ATadU AT TS - fofiC

e A ARE (Y 26C3T3Y 13- 36037 P3Yic
31 3 = N . N - s e 4
T S TAUSYCIIC ¥=37-3603Y | Sc=ToaA=iu Cisi=Y=6140
(=Vr= 2oy ==Y - T3AI»AC PBYIC 3¢3ToasA3lp | (TS Y»A-C3iC N=0artU=Y
o TUEIe 126 F3RU=Y CAST3Y36140 §TATT38/3Y 63Y6C T»i=T3640003Y
USHUCYY»HC A3NA=YA0 (HTTASI=0a71U3Y 63Y6 1} BcSYSTY»Ras 22011
(YSES3A3aAIaYY»Ac DSBSV 1SSy NS0aitca | §2-SAST-2; ” SpCvail=ii;
N S el A (I CTHYASTSBYY»AC [7=3-Ch | »YASTSIBYY»AC T AST364i6U3Y
AYi.zggYA RE3T313%U»AC U38ar) i7=-Cii
PALTIC 3YT3Y45UA - aiU=hA 3 ATaoU Aew 3 ATaoU Aer 3 ATaoU Aew
== - T3 3pa0V»AC - T3 3pa0V»AC - T3 U3ha0V»AC
1i=0Y»far) 2 e 2 e 2 e
0 o5z 0 o5z 0 o5z
= S 2 S = S
>, - < =0 < S0
3 = 3 = 3 =0
7 2om L 7 2om L 7 2om L
o =0 d =0 d =0
> S 0w > S 0w > S 0w
< -o-m— 0 < -o-m— 0 < -o.m— 0
81> 81> 81>
1 2 3 4 5 6 7
AU_2@°UA 12E&°5 13,503553.0]  771,145.9 771,1459| 6,681,1295 6,681,129.5|  2,970,815.2 2,970,815.2
31 Arasl
AUAZOAT 12E6°5 1,114,064.9]  771,1459 771,145.9 97,058.8 97,058.8 78,732.9 78,732.9
31 Arasl
2pE2T2Upk 1280216a0A0a00 692,429.8]  692,429.8 692,429.8 0.0 0.0 0.0 0.0
31 Arasl
_ASUAT 1x2R140 SRES TS 130000 - NS 1263 Tx3Y»h 692,429.8]  692,429.8 692,429.8 0.0 0.0 0.0 0.0
31 Arasl
- 2RESTA0Y»AC SRES TS T30N -~ NS 1»E3 1x3NY»h 632,176.2|  632,176.2 632,176.2 0.0 0.0 0.0 0.0
- 230303060313, 131313 & 1313 3F 60,253.6 60,253.6 60,253.6 0.0 0.0 0.0 0.0
1363la0V»iC &= -3 Thasl
T12&2020A0a000°8K ©1 2a02UgU°8E 78,209.0 78,209.0 78,209.0 0.0 0.0 0.0 0.0
0°eg” ©5a00
{1 ATaol
P3RAYSI2T3Y ISEex 45,9754 45,975.4 45,975.4 0.0 0.0 0.0 0.0
31 Arasl
SI»h-> K Gl T2ESIA0Aa0Y Y h 22,556.0 22,556.0 22,556.0 0.0 0.0 0.0 0.0
- TaUa0Y3E 13631a0Aa0Y Yo 322.8 322.8 3228 0.0 0.0 0.0 0.0
- 1340 1363la0Aany Y»n 8,474.2 8,474.2 8,474.2 0.0 0.0 0.0 0.0
—2&3Nai=>- 213y 1SEé»n 320.0 320.0 320.0 0.0 0.0 0.0 0.0
- YIA0IIC 630 1aRaiUY»AC §=N0= 1 StabAlarY 14,302.4 14,302.4 14,3024 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 16,976.1 16,976.1 16,976.1 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 2,443.0 2,443.0 2,443.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 340.0 340.0 340.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 1,453.0 1,453.0 1,453.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 550.0 550.0 550.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 100.0 100.0 100.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 1,598.0 1,598.0 1,598.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 1,598.0 1,598.0 1,598.0 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 11,216.5 11,216.5 11,216.5 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 2,921.5 2,921.5 2,921.5 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 8,095.0 8,095.0 8,095.0 0.0 0.0 0.0 0.0
- D3 a6l YA3SW313(CY 3k YiaiA»i 200.0 200.0 200.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 343,426.1 507.1 507.1 97,058.8 97,058.8 78,732.9 78,732.9
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 507.1 507.1 507.1 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 342,919.0 0.0 0.0 97,058.8 97,058.8 78,732.9 78,7329
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 12,389,488.1 0.0 0.0 6,584,070.7 6,584,070.7 2,892,082.3 2,892,082.3
31 Afadu
D/!E@pz |‘2L"J DExAOUCS 12,389,488.1 0.0 0.0 6,584,070.7 6,584,070.7 2,892,082.3 2,892,082.3
31 Afadu
Dc"['{ﬂoa 1 bEUaAUaUUCS 4,965,810.8 0.0 0.0 3,584,070.7 3,5684,070.7 719,908.9 719,908.9
31 Afadu
- b»YU»AC * RCYABAIAGYY»AC TS ACTH 3E T»A3Yana-ail 4,965,810.8 0.0 0.0 3,5684,070.7 3,5684,070.7 719,908.9 719,908.9
@?Z?U?U°6 °i é28g2T1a6a6gues 7,423,677.3 0.0 0.0 3,000,000.0 3,000,000.0 2,172,173.4 2,172,173.4
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiuY»i 7,423,677.3 0.0 0.0 3,000,000.0 3,000,000.0 2,172,173.4 2,172,173.4
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Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363137 U=Y 04 p=AYC 03
EUUC 05 126G Th=-ixAC - TaT N2 =1 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NaLT2TV»AC

20lae=T 04-03-05

Pa1T=1¢ =Yi=VaslA

S ATa00 ASH 175 fofiC

28C3T3Y =0 -30U3Y u3YI1C
=¢3164a0AR0u CAZT3Y=306140
T RS Y»h -C3IC N304y
63Y6C T»A3T2é4a003Y
RAGSY3TY»fAail T=h - STanl3Y
TSé63T3A03Y SirTalST30i31
N=U=T=fi-C (SCADA) AY1E=VU=Y
IA=-Ch

I»AST26400U3Y " %37 - 2003 » TRAAST3Y
UBYTC 2c2T645A20p CAZT2Y26140
T TASN=04A1U3Y 63Y6C uS»E3TU3Y
BRCSYSTY»fi400 §2RY=T! »YAST2(=2YC
T»AST26406U3Y (b THAZ Vofi-» W CTST3Y
N3U3T30-C T363TAUSY pSint3TU3Y
1= Cf

I»AST3400U3Y %3 -30U3Y
UCe=3%-3(CY u3YIC
3¢3T16a5AB 0N CAZT3Y=36T40
¥ TTASN=0aA1U3Y 63Y6C
U3»E3TUSY Riig3Y3TY»Aail
Of"3Y( &°T-C »YAST3[=3Y(
»AST3¢406U3Y 1i/=3-Ch

22 Afal As
T=T2/80Y»AC

22 Afal AST
T=T2/80V»AC

21 Afal A6
T=02Ra0V»AC

v v v
b= .o b= [S3 b= S
0 %% 0 0% % 0 o3%
< ‘S8 < SR URN < PSRN
3 - 3 - 3 =T
P 2o (L £y 2o L 7 2oL
o =0 d =0 d >0
> S 0w > S0 W > S 0w
< -o-m— 0 < o-m— 0 < -o.m— 0
&> &> 8>
8% 8% 8
8 9 10 11 12 13
AU _2@°UA 12Eé°3s 1,160,745.4 1,160,745.4 715,787.3 715,787.3 1,203,929.7 1,203,929.7
31 Arasl
AUAZ20LT I12Eé°d 77,090.0 77,090.0 45,355.6 45,355.6 44,681.7 44,681.7
31 Arasl
2pE2T2Ugk 12802Tda0AlacU 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_ASUAT 1x3A140 SRES TS T3A0»0 NS T»ES Tx3AY»0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0
- 63030200313, 137313V~ & =13V 3F 0.0 0.0 0.0 0.0 0.0 0.0
1=26310Y»AC &=3A- =1 al
12&20asAlasuUUCBE @1 24a82UgU°BE 0.0 0.0 0.0 0.0 0.0 0.0
0°eg” ©5200
31 Atadu
P3faiYST3T3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- WY»h >0 Gl 1363aAlaiY V»h 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é3achlasyYr»h 0.0 0.0 0.0 0.0 0.0 0.0
-13aC 1=363laAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0
- 233Na13-A313Y IBEé»i 0.0 0.0 0.0 0.0 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T30S T3ta0AlasY 0.0 0.0 0.0 0.0 0.0 0.0
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20la56=T 04-03-05

8 9 10 11 12 13
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0
- D3 a6l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 77,090.0 77,090.0 45,355.6 45,355.6 44,681.7 44,681.7
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 77,090.0 77,090.0 45,355.6 45,355.6 44,681.7 44,681.7
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 1,083,655.4 1,083,655.4 670,431.7 670,431.7 1,159,248.0 1,159,248.0
31 Afadu
D/!E@pz |‘2L"J DExAOUCS 1,083,655.4 1,083,655.4 670,431.7 670,431.7 1,159,248.0 1,159,248.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUaUUCS 0.0 0.0 201,866.4 201,866.4 459,964.8 459,964.8
31 Afadu
- b»YU»AC * RCYABAIAGYY»AC TS ACTH 3E T»A3Yana-ail 0.0 0.0 201,866.4 201,866.4 459,964.8 459,964.8
@?Z?U?U°6 °i é28g2T1a6a6gues 1,083,655.4 1,083,655.4 468,565.3 468,565.3 699,283.2 699,283.2
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiuY»i 1,083,655.4 1,083,655.4 468,565.3 468,565.3 699,283.2 699,283.2
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Af»YOC 7-A1 NALT2TAT piaic» T=3CY T2E»AC - 4f1=26Y=T3Y 1363T37-U3Y 04 p=AYC 04
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AUAZ0AT 12EE°58 137,499.2 137,499.2 134,323.7 134,3237| 121,1745 121,174.5| 45,310.6 45,310.6
31 Arasl
.82@2pUasplos 137,499.2 137,499.2 134,323.7 134,3237| 121,1745 121,174.5| 45,310.6 45,310.6
31 Arasl
AYA36CT 1A3U3RYAANY »A a» 1 =13Y 31 131C 3¢ 137,499.2 137,499.2 134,323.7 134,3237| 121,1745 121,174.5| 45,310.6 45,310.6
UST3A1STY»ACY
31 Arasl
- AYA36CT 1A303RVaANY»A a» 1313V~ ASU3NUSICY aa 137,499.2 137,499.2 134,323.7 134,3237| 121,1745 121,174.5| 45,310.6 45,310.6
3¢ TASICY 133 T»RA40AI6YY»ACY
2(E 12E&°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
UTCAST TaiAladYV»A a3 1363 T3/ 13Y (NBe3n3T313Y) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T3W3T»AA4AIAGYY»ACY
31 Arasl
- UTCAST 1a0Ala0YY»i 3k R3NadA 2> 3avy1ad 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T3W3T»AA4AIAGYY»ACY
2 1=Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa u£0=20e2T20 ZTTE1UCSE T1a1 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
pEGUZT2U pE2a0U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15
D?Ugoa ©1 bEUasAUaUUSS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Aradu
- P»YU»AC ** BCYAIAIAIYY»AC TS ACTH 3t T»A3Yana -ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=UE P/EQQZ 12U gfxaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Atadu
- UBE=3- I3 T3 r313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




28¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T=3CY T2E»AC - 4f1=26Y=T3Y 1363T37-U3Y 05 p=AYC 04
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
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. Gn =1 =1 =1
16 17 18 19 20 21 22 23
AU_2g°UA 12E6°5 1,727,376.2 1,727,376.2| 42,727.9 42,727.9|  15,649.7 15,649.7| 7,139.7 7,139.7
3 ATasl
AUAZET 12E6°5 339,708.0 339,708.0| 42,727.9 42,7279|  15,649.7 15,649.7| 7,139.7 7,139.7
3 A4l
- 5202pUasblos 0.0 0.0 42,727.9 42,7279|  15,649.7 15,649.7 0.0 0.0
3 ATasl
AVAS6CT 1n=URVARNY > 8o 1 S13Y NS T T131C 3E 0.0 0.0 42,727.9 42,7279|  15,649.7 15,649.7 0.0 0.0
USTSAISTY»ACY
3 A4l
~AVES6CT TR=20USRYARNY»A 8> 1 =137~ 203Ny 4a 0.0 0.0 42,727.9 42,7279|  15,649.7 15,649.7 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
2(E 12E6°5 339,708.0 339,708.0 0.0 0.0 0.0 0.0| 7,139.7 7,139.7
3 A4l
UTCA= T TaAA0YY»N 43 12631 33 13Y (NBe3n=1313Y) 0.0 0.0 0.0 0.0 0.0 0.0| 7,139.7 7,139.7
T3W3T»AA4AIAGYY»ACY
3 A4l
- UTCA= T TABA&0YY»n SE R2NAGA a0 1 2aY 140 0.0 0.0 0.0 0.0 0.0 0.0| 7,139.7 7,139.7
T3W3T»AA4AIAGYY»ACY
2F [=Eé»i 339,708.0 339,708.0 0.0 0.0 0.0 0.0 0.0 0.0
aa ukU=2062T20 2T1A1U°8K T1a1 12E6°5 1,387,668.2 1,387,668.2 0.0 0.0 0.0 0.0 0.0 0.0
31 Afa50
PEGUZT20 DExaoU°d 1,387,668.2 1,387,668.2 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
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16 17 18 19 20 21 22 23
D?Uﬁoa ©1 bEUasAUaUUSS 1,339,668.2 1,339,668.2 0.0 0.0 0.0 0.0 0.0 0.0
31 Aradu
- P»YU»AC ** BCYAIAIAIYY»AC TS ACTH 3t T»A3Yana -ail 1,339,668.2 1,339,668.2 0.0 0.0 0.0 0.0 0.0 0.0
=UE P/EQQZ 12U gfxaoU°d 48,000.0 48,000.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Atadu
- UBE=3- I3 T3 r313Y I3Eé»i 48,000.0 48,000.0 0.0 0.0 0.0 0.0 0.0 0.0
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S ATa00 ASH TR fofiG
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aa2T-C TYORCYasAI=Y V»iva - Y140
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>
I f e
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A nn
< 00(,)5 o
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=3
24 25
AU_2g°UA 12E6°5 136,157.0 136,157.0
SENYEN
AUAZ20ET 12Eé°d 136,157.0 136,157.0
SEWYEN
. 02@2pUaspU°s 136,157.0 136,157.0
3 ATasu
AVE=6CT TA3USRYARNY»A B 1 213 N1 1210 3E 136,157.0 136,157.0
UST2AI2TY»ACY
SEWYEN
—AVAS6CT 12USRVARNY»A 8» 13137 -~ NSUSNU20Y 44 136,157.0 136,157.0
36 TASICY T3W=T»A240AIAY Y »ACY
20UE 12Eé&°8 0.0 0.0
3 Afasu
UTCAST Ta0AR0YY»N 43 12631 33 13Y (WBe3ns1313Y) 0.0 0.0
T3W3T»AA4AIAGYY»ACY
3 Afasu
- UTCAST 1atAlasYY»i 3F R3NAHIA aN»1=4&Y140 0.0 0.0
T3W3T»AA4AIAGYY»ACY
2[f I3Eé»h 0.0 0.0
aa u£U=20é2T120 2TT£E1UCSE f1ai 12Eé°d 0.0 0.0
31 ATasu
PEZU2T2U BExaoUCd 0.0 0.0
31 ATasu
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TRASIRCY T262T2R03Y Pb Ofi»Yug N=U=03lY &an e -Tar D>t I=T3Y
U3ﬁUCYY»ﬁC a=fa=vail LlY3é.3Né.3Y3T3~Y iﬁ3 - ﬁ»ﬁc -I:>)O)>-|.3-!-I'3-!-3Y
(VSESASRaRIAYY »iC CAsST=3Y=6U=Y N=U=n bD 1363a0AlAdYY»i
AV 11 SRESTSTIWAC USEAT) N3U3UYUY»ﬁCY‘ééﬁui»‘YéCE"Y»ﬁQ
A= P({:YA TH3U317450
e
PALTIC 3YT3Y45UA - aiU=hA 3 ATaoU Aew 3 ATaoU Aew 3 ATaoU Aew
(R=v%=n \— T30 3na0Y»ic \— T3 7 3na0Y»iic \— T30 3na0Y»fic
1A30Y»har) 2 > 2 > 2 >
> > >
= i% g = i% 3 *102—: i‘% 3
- 8BS - 85 - 8BS
> 8 < > 8 = > 8
f frZU e ) fg = ) fg e
3 nl 3 no L nl
< org ! < oy ! < org !
03 03 0
> > >
3 3 3
1 2 3 4 5 6 7
AU _2@°UA 12Eé&°d 1,629,934.5| 1,392,205.1 1,392,205.1 94,421.0 94,421.0| 20,517.4 20,517.4
=1 ATaiU
AUA20LT 12E€°8 1,629,934.5| 1,392,205.1 1,392,205.1 94,421.0 94,421.0| 20,517.4 20,517.4
=1 ATaiU
2pE2T2Ugk 12802Tda0AlacU 1,306,777.0| 1,238,379.5 1,238,379.5 0.0 0.0 0.0 0.0
=1 ATasU
_ABlatl 1x3A140 SRES TS T30 " NS T»E2 Tx3AY»A 1,306,777.0| 1,238,379.5 1,238,379.5 0.0 0.0 0.0 0.0
=1 ATaiU
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 1,196,173.3| 1,127,775.8 1,127,775.8 0.0 0.0 0.0 0.0
- 3030306C313Y, 137 33Y ™ 7313y 3 110,603.7 110,603.7 110,603.7 0.0 0.0 0.0 0.0
[363060Y»C A=A - 34U
12&20a0AladUUCBE 1 2a82UgU°dE 161,402.1 152,821.0 152,821.0 0.0 0.0 0.0 0.0
0°eg” ©5200
3r ATéiU
P3fAYSTI3T3Y ISEé»fi 61,603.4 55,575.5 55,575.5 0.0 0.0 0.0 0.0
=1 ATaiU
I -1 CT 1363 A0NE0Y Y1 28,5448 26,0003 26,000.3 0.0 0.0 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 1,944.0 1,906.0 1,906.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANa0TYoh 17,7286 16,1322 16,1322 0.0 0.0 0.0 0.0
TZASNA1=2-A=13Y 12Ee»n 1,738.0 1,560.0 1,560.0 0.0 0.0 0.0 0.0
“qA0IC  E3AUS TARAUY»NC T2n0=T3a0Na0Y 11,6480 9,968.0 9,968.0 0.0 0.0 0.0 0.0
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1 2 3 4 6 7
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 33,229.0 32,729.0 32,729.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 2,960.2 2,690.2 2,690.2 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 600.0 600.0 600.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 900.2 780.2 780.2 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 150.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 1,310.0 1,310.0 1,310.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 7,463.2 7,117.0 7,117.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 7,463.2 7,117.0 7,117.0 0.0 0.0 0.0 0.0
a=Na=vas
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 56,146.3 54,709.3 54,709.3 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 13,188.5 12,985.0 12,985.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 41,344.2 40,254.0 40,254.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 925.3 782.0 782.0 0.0 0.0 0.0 0.0
- D3 a6l YA3SW313(CY 3k YiaiA»i 688.3 688.3 688.3 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOEﬁ 45,501.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 45,501.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- €a0uECICZYxri ad YCYSYEST3Y a»n313Y 45,501.6 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
. 62~®2P0369006 114,938.4 0.0 0.0 94,421.0 94,421.0| 20,517.4 20,517.4
31 Afadu
AYA36Q-I. 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 37,086.7 0.0 0.0 16,569.3 16,569.3 20,517.4 20,517.4
UST3AT=TY»CY
31 Afadu
- AYAZ6CT 846U T»YOC3Y» NBUSIYQY»ACY 16,569.3 0.0 0.0 16,569.3 16,569.3 0.0 0.0
- AYA3OQI f‘-ﬁ3Uf3BYéﬁNY>>ﬁ a»T313Y " N3U3IYO=3(CY 4 20,5174 0.0 0.0 0.0 0.0 20,517.4 20,517.4
3¢ TASICY 133 T»RA40AI6YY»ACY
TE‘_élC'I'3E_f-ﬁ3Uf3BYéﬁNY>>ﬁ aT3I3YN3TI131C 3F 77,851.7 0.0 0.0 77,851.7 77,851.7 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- T3ACTH 3f aUT»Y6C3Y»A NSUSYUY»ACY 77,851.7 0.0 0.0 77,851.7 77,851.7 0.0 0.0
éaéﬁzE?TzU U&a2éTuU®s 21 IT°Ué2Aap21U°s 153.2 153.2 153.2 0.0 0.0 0.0 0.0
31 Afadu
éééQ3E3-l-3Y 0-YaiAlRY 1303 13Y 3w 3N3rasA=lu 153.2 153.2 153.2 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Afadu
- 2 YA Y»A piaic»Co 153.2 153.2 153.2 0.0 0.0 0.0 0.0
2UE 12Eé°d 1,162.2 851.4 851.4 0.0 0.0 0.0 0.0

=1 ATadu
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EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

S ATa0l AET 17 -fofiC

p3{=eT=3YC

P3YASA» T aARY T3A310C
ewan»iThi= 0=206f=f=0
GAnAiC NCLAGmATASSY=ST3Y

UAYCWancY-C

U3E3a3naAl3Y
§TA=-fvAC
CAST3Y36U3Y
ASEYVIET! 83Ty
RCUY=RIC A3Na3Y4l

13é3(aAlasYY»
Pa1i=1C 3Yi3YaiUA _?Ul Al'ééq Aé'l' __301 Al'éf)L;J Aé'l'
- IS 2040Y»AC - IS =20a0Y»AC
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5 R = %
v 8gil 7 Lo
3 oo g oo
< T < T
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8 9 10 11
AU_2g°UA 12E&°5 45,501.6 45,501.6| 77,289.4 77,289.4
=1 A0
AUAZSET 12E&698 45,501.6 45,501.6| 77,289.4 77,2894
=1 Afasl
2pE=T200k 126021620A0a00 0.0 0.0| 68,397.5 68,397.5
=1 Afasl
_A2UAT 1x2R140 SRES 212000 N2 152 IxSAY»h 0.0 0.0| 68,397.5 68,397.5
=1 Afasl
“ZRESTA0V»AC SRES TS 30001~ NS 1 »E2 TxSAV»N 0.0 0.0| 68,397.5 68,397.5
- 53030363 13Y, 1313137 - a» 1313y 3E 0.0 0.0 0.0 0.0
1=26310Y»AC &=3A- =1 al
1262020A0a600°3k ©1 2a0620s0°3k 0.0 0.0] 858L.1 8,581.1
0°eg” ©5a00
=1 Afasl
P2RaI 12127 12Eé»h 0.0 0.0] 6,027.9 6,027.9
=1 Afasl
YA -»> W CT 1263a0Aa0Y Y»h 0.0 00| 25355 2,535.5
- Talaoy=t 1=6=31apAlaoy Yn 0.0 0.0 38.0 38.0
“T=3AC 12631a0Ka0Y Vo1 0.0 00| 1,596.4 1,596.4
-233Nar=- =12y 12E6»h 0.0 0.0 178.0 178.0
~A0I0C  E3N0= 1aNa0UY»1C 12001 SLa0Aia0Y 0.0 0.0] 1,680.0 1,680.0
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8 9 10 11
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 500.0 500.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 270.0 270.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 120.0 120.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 150.0 150.0
- AYIN3YAH7 pYadlAc 3 1=3¢3a0AlaiY Y»i 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 346.2 346.2
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 346.2 346.2
a=Na=vas
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 1,437.0 1,437.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 0.0 0.0 203.5 203.5
- TASYEAANT3ICY YiasA»i 0.0 0.0 1,090.2 1,090.2
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 0.0 0.0 143.3 143.3
- D3 a6l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0
eao” ek £E20°8 45,501.6 45,501.6 0.0 0.0
31 Afadu
ééﬁHéQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 45,501.6 45,501.6 0.0 0.0
31 Afadu
- €a0uECICZYxri ad YCYSYEST3Y a»n313Y 45,501.6 45,501.6 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I. 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 0.0 0.0 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYAZ6CT 846U T»YOC3Y» NBUSIYQY»ACY 0.0 0.0 0.0 0.0
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